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��������������8����/	;����� �����������$��������
�
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+�����������������*�����
�

�� 88����� $�������� ���-�+��� ��� �� ���=� 3���� ��*��� ��� ������-� �8������ ����� $��%� ��������$$����8� �����
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���8���!� ����G�� )/#6� ��������  ��� ���� F��� � ��$%G� ���8� ���� .)#� 3 ��8� ������-� F���� 6	���8��� ���� ��3	3 ��8�



�� �
�
�

�*������ ����������������� ���������� �8�
 �����������




��$�+�� 3$��#�����������

�

9 -��������D�����B�
�

�

4�������������
� ����������;�:��:�����
�

�

�� ������&�� $�
�����8���9�3$���

�

�

����*%��-�����	
��
�������������

������ ��G��"��8����3 ��8��������� ������8�����*������$�������-�F��-��"
9G� ����$$� ��.)#	� �8���3	3 ��8�
������-������"��8����������������� ���� $$%����8�����������-�8 � 3 ����������!�3��� $������������$%�+� � �.)#�
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��*$������8� ��8��� "��8���!� 3��� ��� ��� ����� � ����  � )/#6� 3 ��8� �%������ ���� "��8���� ����� ���$��  ���
������-����9�P����8���"��8����+��������ED!�����:/�� �8�69��'$8���+�����������"��8���� ������� �������
 �%�������

���

�.��
�.�.,"�+.*�


������ ���-���� ����� ������� ���*$ ��� ���������� ��� $�8�� ��!��������� ����� �������� ������ ��8�� �� $$%��
#�*��� ���� ����� ��� ����� ��� ���� $$%�  � �������� $� �*������ ����� ��� �%����� ������������� 8��������� ��-���
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 $���3��1�8���� ����*��<����P�3�8-��������������*��<����� � -���� ���-���� $$%����� ���������8� ����� �-��-�
���$�� �8������8�!�3�� �������8��������� +�� �� 88�8�+ $������������*��<��������������$8�3������ �*��3$���
���������8����-��������/	;��*������ �����$ �-� -���������� �1����
�
&������������������!����� �����+����- ���-������ �-���������������+��������!� ����8�������������FM���	��	���	
3�=MG�����-� ��8���$�����������������-!������ 8��������-�8��������� �8�*��*���� �%����$������$�+��8��������� �8�
�������%����8�$�+���F����-� ��8G���$������������������$��������-�*�����������������8������3��1�*��������8������
8�+�$�*��-����$���������/	;��

��
"�.3�,,
�3%/��.%�$3.
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����� ���*������ ���  $$� ���� ���*������� �� ��  ��� ������� $� ���� ���� �=�������� ��� ���/	;�
����������������*������� ���� 1���������������*�������8�����8�����������/	;�������%����� ������������ ��
8�����8� ��� ���� ���/	;� �������� ������ ���� F�2#� 5B7G�  �8� ���� ���/	;� ������$� ������ ���� F��#� 5�7G�� ������
���*������� ���3 ��� $$%����*������� ���� ���� ����� ����������� �����%�������8��� ����� F�)�G!� ���� �����-� �8�
�=���� $� ���������!� ���� ���� ������$� ��� ���� ����� �=�������!� ���� ���� � �8$��-� ��� F$�� $�  �8� ������G� �����
���*������!�  �8� ���� ���� ����8��-�  �8� 8���8��-� ��� 8 � �� ���*������� �� ��  ��� 3�%��8� ���� ���/	;� �����
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�%����� ������������ ������*�����������8�*$�%����� �8�����$�--��-� �8��� ���-��#�� 88�����!� ������������ ���
����$8�3��* ��������������� ���� �����������H���!�-� *��� $������������ ����F.)#G� �8����� �8	$���������� ����
F�)#G�����$8�3����**����8��
�
���� ����
 �������)� ��������� ��� ���� ����� ���� ����������  �8�  88����� $� ���*������� ���8�8� ��� 8�+�$�*�  �8�
� ��� ��� ����� �%������� ������  88����� $� ���*�������  88����� ���� ����� 8�+�$�*����!� ����� -���� ����!� �����
+ $�8 ����� �8������ � $%������
�

��	
"�.3��.;
"*
�/.
�.��
�*!3���3$%�$3.
%"+�"*.*��


�
������������� ����������*��+�8����� �������=���������/	;������� �8���� � $%����������������$��!���������������8�
�������������*!��=�������� �8�����$��*������ �������
�

3��� ���������������F� 1�������������8�+�$�*����G� ������*�$�8�������=���� 3$������������� ����/	;����*�$���
F�������� ����������G���
�

�

!� ���
��

 �������������
	�
��������������

�����-� ��������	�*� $$����*����������8�8� ���� ���� ������=�������� ��� F$�� $$%���� ������$%G�8�*$�%�8��������
���*������� ���$�8�� ���� �=���� 3$�� ����� ��8�!� ���� ����� ��-���� F��� ���� � ��� �����G!�  8 *����� F������ � 1���
����� 8 *������*���������G� �8��������������*����� ����$�����*$�%����� �����**����8�3%�����=����������$�����
8�*$�%�������� ���$$%��������� $�������%������
�
����������%������������3 ��������������=���������#����������-���8� �8�* � ������@�8� ����8��-�������� �������
��� ���� #�*$����� ������������ ������ ������� F#��G� �8� ���� #�*$����� ������=�� � #����� ����� ����������-�
F#6#�G������������ � -���Q��� ��������8����������$�����������=���������
�
��������$������������=��������+� ����������� � -��� ��������$�-�!������� �������3 ��������8���������-�������� $�
����� ����$�������� ����� $�-�� �8� ����� ����$��� � ��3��+��� $�@�8������ � ����� ����$�� ��*������ ����� F������� � ���
��$�-G�� ���%� � ��  $��� 3�� �����8� ���  � ����$�� ��*������%� ��� 3�� ���8� ��-�� ���� ������� + �� ������ 8����-� �����
8�+�$�*�����*� ������
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���� ����� *$ ������ �������  88����� $� ���*������� 8�8�� ��8� ��� ���� 8�+�$�*����!� + $�8 �����  �8�  � $%���� ���
������� ���� ������  ��� 8�+�$�*�8�  $��-� ���� 1��8� ��� ������ F�����  �� �������� $!� ������*�� 3�$��%!� *������ ���!�
�� $ 3�$��%!� $� 8!� ������!� ����� �����G�  �8� ���� ����� *��*����� �8� ������3<����+��� ���������� ���%� ��� ���8� ���
������� ��3���*������8�������/	;!����8�� ����*�������*����$���������/	;�F����� ��������3�$���������� �����
��� ����  �������+�G!� ��� ��� ���� )
�� ���� ������-� 9����$�� F������ ����� ���8�� ��� 3��� **�8� ��� ���/	;G�� ����
����$���������������8�+�$�*����� ��� 3��� ���������������������/	;!������� ������*�$�8�������=���� 3$����8���
�� �����-�+������������������� ���������������=����������
�

�

!� ���
��

 �������������������������

�����8�+�$�*����� ����$��� ��� 1��������� $�- �%���������� ������������������������������ �� ������������ �����
�� �8 �8�@ �����3�8������������� �� $������8�+�$�*������������� ��3�����*���8�����������������L����%�� ��
3��8���+�8�����	 ���� ��� $$%������$$%� ���� ��� $$%�-���� ��8�������%�������8�$�!��%��������� ����� �8:���
�����*��*������8�$����
�
��- �%������� ����%*�� $$%�* �������������*�������������������*������������������* ������� �8�������� �����1���
������� ��3��+ ���8�3%��� ������* � ������@ ���������������������
�

3��� ��� ����� ������� � �� 3�� ����$ ��8�  �8� + $�8 ��8� ���� ������ $� ������������  �8� ���� ���� ������������ �����
���*���� ��� ��%�������8�$���� �����*��*���:������3<����+����8�$���=���� 3$�� ������������� ��3��8�3�--�8��
����$ ����!� + $�8 �����  �8�8�3�--��-�  ��� 8�8�� ��8� ���  � $%��� ����� �������  �8� ��� ����1:8������� ��� ������
�������������
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�*!3���3$%�$3.

���� +�� �3�������+��+���� 3���� ����/	;�������%����� �8��������*�������!���������� $$�����-���� $�����������
��� �����  � �%�����  �8� ���� ���8�8� ������ ���� ��$$� 3�� *�������8�� 
����� �� �!� ���� 8�����3���8� ����� �%�����
 ����������������=������ $$��������*�����������=*$ ���8��

1�	
0.*.3�,
��3$%�$3.
"!
�
��%*<�
�.��
�4��.+



����/	;� ����� �%����!� $��� ������$%� �������8� ��� �� R������R!� � ��3�� ����-��� ��� �����*�� $$%�  �� ����� ���
����� ����-� ��������� ������ � ��� �����%� ������*��8�� ���  � * �����$ ��  �*���� ��� �������� $��%� ���  � ����� �%�����
��*$����� ���������������������� � -��������=�������!� �����*��������=���������*�$�8����/	;���8�!��� $�@��
*��*����������� ���������������)�!���*$�������=���� $����������� �8�� �8$�������-��
�
����* ����������������%�������������*$������������*��� ���������=����������� ����/	;�������*������ ������������
���/	;��=���� 3$�� F��G� �����%�� #��  � ���/	;� ������!� ����� �����%� ������*��8�� ������� ���  �� �����*������ ���  ��
�=���� 3$�������������F���G�������������*��8���8�3%� ����*�$�������� ����/	;� 3��� ��������������F
��G��#��
� ����������-����������������*�$��!������� ���=���� 3$������������!�������������*�$�8� 3��� ���������������

!� ���
1�

 �����������
	�
���������������������������



������� ����-�* �������������/	;�������%����!�������8� $����������� �*������� ��� �����3������$�8�8������
������ ����� 3���-� *������� ��� ���� ���-�� $� 
���  $���!� � �� 3�� 8����*���8� ����� ����� 
 � -������ F�
G!�
���*������0 �8$��-�F�0G!���8���F��G!��)��
8 *����F�
G� �8�9$ ������
8 *����F9
G�����������#��-���� $!�
�����������������+��� �������%���������������� ��!�������=��������������$!�������+����$�--��-!��������� �����
3������� ����� ���*������!� ����8��-�  �8� 8���8��-� ��� ���/	;� + $���!�  ����$$�  �� �������� ���������� ����
�)�� �8���������*$����� ������
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��8�*����8������-����B!� ����/	;�������%������ ������� <��������� ���!��������/	;�������$�#����� ���F��#G�
 �8��������/	;�2�������#����� ���F�2#G��������#�5�7�*��+�8��� ��� �8 �8�@�8� 8 *� ���������� � -�����!�
��������*������� �8$��-� �8�����8��-:8���8��-���� �������%�������� �* �����$ �������*$ �����!����������*��������
���� ������ ���� 3������� ����� 
 � -������ F�
G!� ���*������ 0 �8$��-� F�0G!� ��8��� F��G�  �8� ���/	;�
�=���� 3$�� F��G� ���������� ���� �2#� 5B7� �*�������� ���� ������ ���� 3������� ���� ���  �8�9$ �����:�)��
8 *����
��������!����*����+�$%��

1�	�	
���
��%*<�
.=�
���(��
>�.?
.����&



�� $�� 8%���������8!� ������������%� ��� ���*����3$�� ���� ���� �����*��� ���������=����������� �������/	;�
����
�����*�� $$%!�������������%�� ��3������-������ ����*$����� ����������������* � ���� �1���
S�������$���������� ����=��������
S�*��*����=��������������/	;�3�� +����
S��������-�����+�����
�
���� ������$�  �*���� ��*$������� ���� ������$� * ��� �*������8� ��� ���/	;� 
���� #�� *��*��$%� ���������� ����
�=����������������� ����������������� �8���$$��������� ����� ��8�+��8������'������ �1�� ������������ $�� ��������
�)�� �8�*$ ������ 8 *�����*����� ��� �����=����������� � ������ ��!� ���� ��+�� ���������2#��*�� ������ �����)��
�*�� �����!����/	;��=���� $����������� �8���������*$����� �������
�
����3�� +��� $� �*���� ��*$������������=����������� �����*��� �������� ������ ���� �8����������� ��8�����8� ���
���� **��*�� ������/	;���8�$����'������ �1�� ����
S�*��* - ����� �8�� �����-����������+�����
S�$�--��-����������+�����
S���� ����� �8�����+ $�������/	;���������*�������
S���+�� ���������2#��*�� �����������8������� *���������*������*�������������%����������� ���*����!�������������
�����
����������� -��� �����3���������������)�!�����������������9
��������=���� $����������� �����3��� $$�8�
���������������� �����3���� ���8!����**�8!�������8������ 8�
S������+��-�����������-����� -������*����8����� $$������������)�� ����$$� �����������+�����
S�� �8$��-�����)�� �������*�� ������
�
�������� ����� ����� ���� �)�� � �� ��� 3�� ��*$������8� ������� ���� �
!� 3��� �������� ����� 3������� �����
���*������� ��� ���� � �1� ��� ���� ���� �����  **$���� ��� ���� -�� 3 ��8�  �� ��$$�  �� *����8���� 3 ��8�
�������� ������
������������%���� $������*����3$����������$+��-����� **��*�� �����8���������8����������8�������8 � �*������������
��+�� ���������2#��������� ������*�� ������ �8�8���8�������+��-������8 � �����������)��
8 *���� ����8��-�
�����������8��-���$����*������8�����������/	;�
����
�����������-� �*����������*����3$������� ��� ����-�����*��������������������+��-�����*�� ������ �8�������-�
����+���������������
����9
���������+����� �������%���*�������8� �8����������!������������������8����������
���������$��� *������ ���*�������8��

88����� $$%!� $��� �$�������������!��� ��� +������8����!�� �����3��1�*�!� �������� ��� $����+������� ��� +�����3��
�+ $� ��8���� �����$ ��� %����������*��+�������������8��*�� ������
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�����)��
8 *����� �8$������� -�� �8�*����8����3 ��8��������� �������� �������/	;� ������%����������
�����)���������* �����$ ���=��������*$ �������������������%������#��������*����3$�����*��* - ������8����������
 �8��)�� �������*�� ������������������/	;��=���� 3$��F��G���������)�� �8���������%����������� �%������+�8�
����� �+����� 3%� ���������-� ����� ��� ���� *���� ������� ��� ���� ���� #��  $��� �� $�@��� ���� *����8���� 3 ��8�
�������� ���������������)���
�
����9$ ������
8 *����F9
G���*$����������/	;��=���� $����������� �8�*��+�8��� ����/	;�������%���������� �
���-$�� ������� ��� ������ 
$$� �������  ��� ��� 3�� ��*$������8� ��� ����� �����%�� /������ �� ��  $����-�� ������� � �� 3��
���� ��� ��8� ��� ������!� ���%�  ��� ��*$������8� ��� ����9
� F��� 3������� *������!� ���� 8�� ����� ��� ���� ������� ���
��*$������8������G��
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H ��� $$%!������0�� �8$��������������� �����3���������������*��������#��8�����3��������/	;������-�� �����
�*�� ������$�1����� ��!��� ��� �8����*������������*������!����������������3���������������*�������F��������
 �8�� *G!� �8� ��������*�������������� ����� $�1�����8!�� $$� �8� ��*$%�3������� �������/	;��=���� 3$���
* �����* ���-����������������������
�����0�������� ��*$�������-� �%�1��8�������/	;��������� $��%��#���� 8������$$�3�� �������8�3%���������� ������
�= �*$�� ���������*�������� $$�3����� ��8�F�������-���G��H ��8���������� $�1���$�8-����������0!�������������
���� ���� ��� ����� ���  � ���*������ ��$$� 3�� ������� �� �������8� ��� ���� $�� $� ��� F� � ��� ��-�� �G� ��� ���  � �������
* �����* ���-� ���� F�3� ��� ��-�� �G� ��� ���� ���*������� �� ���3�� ��� ��8���� ���� ��������������� ������������$$�
��� ����������/	;����*������ �8���$$�*��+�8�� �� �8$��3 �1�����������������-�F$�� $G����F;� �8�B������-���G��
�������������-�F$�� $G����� ��������*�� �������������������� ��8���������*������+� ��������*������� �8$��
-�+���3%����������������

!� ���
��

 ��	������� �������������������������

1�	�1
���
����
+��� �)���
>�+?
.����&


�����
������%� ��� ���*����3$�� ���� �����+�� $$�� � -���������  � ����� �%������"������ �����
������%!� ���� � ��
8�����-�����3�������������=��������������$� �8� $�--��-���$ ��8��������� $��%�����������������$� F��G������%� ���
���*����3$������-���� $��������� � -������ �8����$�8���������*$����� �������� ������������ ��� �8�-���� $�
����� �=��������� � -�����!� ��-�� ���� *��* � ����� ��� ���� ����� �%����� ����  � ����� �=�������!� �� ��� ��� ���� �����
�=��������F�������-���G!�������$$������������� $�+��8�����F;������-���G� �8�*��* - ����������8�$��* � ��������������
���/	;��=���� 3$��F�������-���G�������������--��-�F��G������%�� ��� ��������$�-����������=���������
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������������%�������*����3$����������8��-�������/	;�+ $���������3��������-�������8������3���������������%�����
��8��� ������ ���� ��� 8���������� ������ ��8���� � +�� ��� 3�� ���8�  �8� * ����� ���� ���/	;� 8 � � ��� ����
 **��*�� ��8���8��������8�������3� �����������8�8�8 � �F�� �8��������-��CG����������+�8�8 � ����8���8�8�3 �1�
������������/	;�+ $����3%����� **��*�� ���8���8���F;� �8�B������-��CG��
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�� ������� � ��3�� 8�����3���8� ���-� ��+�� $� ����� 8�+����� ����������� 3��  �� ���� ���� �� �� ��*$������� ����
�������� ����� 3������� ���� 8�����3���8� ���������� ����� ���� ���� ��� ���� �0�� #�� *��+�8��� ���� �� ��� ���
�%�������@�� ����8��������������������� ���� ������%�����3���-�*������ $$%�8�����3���8��������+�� $���8��� F��8��
� ������� ����� ���-� �������8�+�����������G������-���� $�������������� �������%�����8�����3���8�+� ���+�� $�
��8�����������������-����D��
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�����*�� $$%����� �����8�!� ������-������������
!�9
� �8�����=�������������������0� �8��


�
���8� �������

������ � -������ �8���������*������� �8$��-�3������������������� �����8������������ ��*��� $������ �����
�8�������8����3����������� ���� ���8� ������� ��� �8��� ��������*����3$������� $��$ ���-�������� $�+��8��������� ��
������ ��

�
��H���8�������!� $$����� ���� �8$�8������ ���������0�������$��������� �����������!�*��� �8�������$�

���*���������������&�����������������/	;���������� ��%��������*�������� ��� �� ��*��� $���$�!� ������=�����
��$%������*�� $$%� �8����� �� �������-���������*��������� ����F���� ��������*�������������)�G���%�����*�����
F����� ���� *����� ��� ���� �����*�� $� �%����� ���*�����G�� %� 3�� 8�����3���8� �+��� ��+�� $� ��8���� &������!� �����
���*����������8�����������8���� %�� +�� �������������� ���*�%��� $�*�������������)������� �������������
��������� $��)��*������ ����-��3���� $�@�8�3%�����+� �$�� $�*��=�����
�
�������� ����� ��� ��� ���� ���� � �8� ���� ���� -�� ��� *����8���� 3 ��8� �������� ����� 3������� ���/	;�
���*�������� ���������!� ���� �0�  8 *��� ���� -��  �8� *����8���� 3 ��8� �������� ����� ��� ���/	;�
���*������� ��� ���� * �����$ �� �=�������� *$ ������ ��� ���� ����� �%������ #�� ���  � ��� ��� ������������ 3�������
���/	;� ��������*�������������� �����*������ #�� ��� ���*����3$�� ��� ���� �8����8� ���������*�� ������ ����� �
���-$�����/	;����*�������� ������8���������� ����� �������������� �-���8����*����������8��-�*������ $$%���� �

������������������������������ �����������������������
&�����'����������������������������(���
���)������!������������%
����*��+��,�,��)������!�����%��������%
�������������

�����	������"������,�
-�����'��
���!�����*��������
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8������������� ������������ ��������� �8��������������8�+�����#�������������������������� �%������+�8�������+�����
3%����������-�������������*����������������������
�
9����8����3 ��8��������� ������*�� ������3����������/	;����*������� ��� $���+���3$�� �� �����0������
�0�� ������� �1����8�����-�����3�����������8������������� -����������*����8���	3 ��8��������� �����F����!�
� $$!���*$%!� �8��=��*����G� �8����*��* - ��������������� **��*�� ���� ������������� �-���8����*����������
���/	;� *����8���� 3 ��8� �������� ����� ��� �����!� ����!� ���� ������� ��� ����� �*�� ����� ��� ���/	;� �����
���*�������=�������!� ������3��� �8$�8������������
�
'�� ����������� �8!� ������ ���  88����� $� ����� ���*������� � -������ �������� ����������� �%� ��� ��8��� ���
��*$������ ����8�����3��������� ����� ���*�������3���������+�� $� �����8�+����������� �������� ����� ���$�8���
���� ��8�� ����� ��� ���� ��� ����� ��� ����� ���*������!� ���� �� ����-� ��� �=�������� ���  � ����� ���*�����!� +��8����
8�����3������ ����$$� �����*������������ �������8�� ������
�
�����0�8�������� ��*$������ ����3�� +����������/	;����*�������3��� ������������ �����3���������+�� $�
���*��������� �� �����*$������8����������������

1��
�*�.3!�%.�
�*�
�����"3�


#����8�������=������ �����!�8��������� 8 *� ������� +�����3��� 8�!�$�1��������*$����� �������������8�������
�������/	;��������������� ��������������������� ���������������)��� �����3����� 3$����8� �8�� �8$�8!����
������*$����� �������������8�������������#!���-�������8�����8�8��������8�� �8�8���8�����/	;�+ $�������
3�������-�� �8�+����+��� �����������!����������8�������� ��������� �����$$�3��*�������8������$%����

1���	
�%�


� ��� ������ ��� ��� 8�+�8�8� ����� ���� ��3������ ���� F*��+�8�8�  �8� �������8G�� ���� *��+�8�8� ������ ��� �*��������
�*�� �������� �� �������%������� $$�*��+�8������������/	;��=���� 3$�� �8������������8������� �����+����$%�����
�*�� �������������/	;��=���� 3$����� �������%����������������T�������8R� �8�T*��+�8�8R����$��������� ����� ��
������*������ �����8��������������������������� ����/	;��=���� 3$������� ������*��������+�������������!����
� %3��3�����!�������*$�������!�T��������R������ ����/	;��=���� 3$������ ����������� $��%����3��$8� ����*$����
���/	;�3 ��8�������%�����������$��$������ �1��������/	;��=���� 3$��� ������������������*$��������������� ���
�+�����������������*$��������� �����*��+�8�������*����3�$��%�����������/	;��=���� 3$���
�

�?
���
�%�<�+
�������
�


���� ��#� ����� 
 � -������ #����� ��� F��#	�
G� ���� ���� �*�� ������  � ���/	;� �=���� 3$�� ��� �������8� ���
��*$������ �8������*�� ���������������� � -��������*$����� ������ �����*��+�8�������������#��������������
������#	�
���������� ������ ��� �� ���*�������� �����*�� ������ �����
� ��������� ����� ������� �8� ������#	�
�
��������������� ����� ���*�������������*�� �����������
�� �����*��+�8�������������
�
������#	�
���������������� ����*�� ������ ������8������������� �8����-��������� ����� 3���������=������-�
��8�$���
���������� �����1������������8�$��� �����3�����8����� �����3������������������� �����3��8����3%�
����-� ���� �����8� ���2���
�8�$��� 
����� ����!� �*������� ������ ����� � �� 3�� ����$+�8� ����� ����� ��8�$�� ���
��*����8���8�$��!�* � ������!������� ����F* � ������G!�������%����������� ���*���������.��#�*����8
�8�$��!�
���.��
�8�$�9 � ������!����.������� ���!����.������� ��9 � ������!� �8����.������� ����#��
�
'������������� �8!������� ����*�� ����������� �8$��-��� ��� �8����*��������������$�* ������ ��*������������� ����
����� ������� ��� F�� ����  � ����� � ��� ��� ���� �������$%� ��$����8� ��8�$�� ����� ���� -�+��� * � ������G!�
������*����� ���F���*������������ ����� ������������$%�3���-��=�����8G!������ ��������$�F�� ��������������$�* ���
���������$����8���8�$�G!�������*������$�F���*�������=���������������������$�* ��G��
�
�����*�� ���������������#	�
���������������� ��� ������8��������������������� � -������ 3����������������
�� ���� ��� ���� ����� �=���� 3$��� ���� ��� � �� ������� ���� � � -������ �� ��  � ����� � ��� � �� 3���� �� ���8�
F�������� ���� ���8G� ��� � �� 3���� ������ ��8� F�������� �������� ��8G�  �8�  $��� �� �� ���� ������$� * ��� � ��
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3���� ������ ��8� F���������$������ ��8G�� #�� ���� �8�� ���� $�-�� ��� ���� � � -������ ������ ���%� � �� 3��
8��*$ %�8�F�����-G� �8����������������� � -������ 3������������������8�8����-�������������F��������G��������
�����$%����������8��� ��������8�3%�����������-��������� ���������������
� �8������������.��
�8�$�9 ���
������
������ ���� �-����8�$��* � ��������������� � -����������������8�������**�������%����-����������� �-����

(?
���
�%�<%�
�������
�


������#���8���#����� ���F��#	��G�8�����3��������*�� ������ ����/	;��=���� 3$������������8������*$������
 �8������*�� ������ ���8�����*$����� ��������� ����� �������8��-���������� $$�*��+�8�������������
���8���
��*$����� ���������8������/	;�+ $���� ����8��-���� ��������8��-� ����3���� ����� �3�������-� �8�8���8��� �
3�������-� ����8��-� ��� ����8���8��-��%*�������������������8������ ��� �������� $��%� ����� ������� �����8��� ���
8���8�� �3�������-� ����� ����/	;�+ $���� #�+����$%!� �������*��+�8�������8��-� �8�8���8��-��������� $��%� ���
�������/	;��=���� 3$����������������������������#	���2������8������� ����� ���*�������������*�� ����������
��� ��������� ����� ���� ���  �8� ������#	���9��+�8�8� ������ ��� �� �� �*�������� ���� �*�� ������ ������� � �� ���
*��+�8�������������
�
���� � �1� ��� ���� ��#	��� 2������8� ������ ��� ��� ��� �������  � �*������� �%*�� �� �� � �� 3�� ���8� ��� ��� ��� ����
���� ��������+ $�����#��� �������8������-�����-�*��8�����8�3 ����%*���3��������� $���*����3$�����-��� ��%*���� ��
� ��3����8�����8�����������/	;���8�$���
����8������-�����-�����*��8�����8�3 ����%*�����������%*��+ $����
��*��������-� ����/	;��%*���F��-������
������������ ��%*��+ $�����*��������-� ����/	;��$� ���%*�G��#����� $���
*����3$�� ���-��� � �%*�� F $������������8� �%*��G�8�����8� ��� �������/	;���8�$������������!�-���%*�&��/ ���
� �� ��� 3�� ���8��"����  �� ������+�� 3$�� ������ ������� ��� ������!�  �� ��$$�  �� ���  �%� ��� ���� ������ ���/	;�
������$� ������ ���!� �����������
 � �� ��� 3�� � $$�8�  �8� � �� ��� ���� �8� ���� ������ ��8�� ����� ��� ���� �����
� � -������������������� 3������������������� ������
�
������#	���9��+�8�8����8����$%� ���� ��$$����-� ���������8����
����
������+ $����� +�� ���3������8�8� ��
���%�  ���  3��� ��� �%*���  �8� ���%� � ����� 3�� ��8������8� 3%� ���� �)�� F���%� � +�� ��� 3�� ����8�8� ���  �
��*������ ��������� ���� ��� ��3����8������8�3%������*��������)�L����������8��������� ����
��� -�����������
 �3�������-G!� �8�������
������8������+����������� �����8���8�� ������8�8�+ $���F����-�+������� -���� $$�
3��8���8�8�3 ��8��������-�+���8���8��-��%*�������G��
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�
������#����*������0 �8$��-� #����� ��� F��#	�0G����� �����*�� ������ ����/	;��=���� 3$�� ��� �������8� ���
��*$������ �8������*�� ������ ����*������� �8$��-���*$����� ������ �����*��+�8�������������#��������������
������#	�0�2������8� �� ���*�������� �����*�� ������ �����0���������� ����� ������� �8� ������#	�0�9��+�8�8�
������ ��� �� �� �*�������� ���� �*�� ������ ���� �0� � �� ��� *��+�8�� ��� ���� ���� 
��  $�� 8%� �� ��8!� ���� ��#	�0�
������ ��� � �8$��� ���� 8�����3������ ��� ���*�������  �8� ����  **��*�� ��� �����-�� ����� �*�� �����!� ��-�� ���  ��
���*������� �����3����� ��8������0�8���8������������������� �����3��8����������������� �������������$$�3��
������������ **��*�� �������������������*��������$$�3����� ��8��
�
���� ������ ��� ������ � 1��� ����� 8��������� ��� ���� ��#	�0� 9��+�8�8� #����� ���� ���� �����8�� ���� � �8$��-�
���*������� ���������� ���������*�����2���F� $$�8�3%�������������+��� ����*������� �����3����� ��8!�
������� �=*$����$%� ����� ���� ���/	;� ������� �*�� ����� ��� � $$�8� ��� ��*$����$%� ����� ���� � ����� ��� ������$�
���*������ � �� ��� 3�� ��� ��8G!� ����� ���������*�����2��� F��� � �� ��� �=������ �� ��� �*�� ����G!�
������*�������*�����2���F���� ������=�������������/	;����*��*�� �����G��
�

����8�� ���� ���� ����������� ��� ����� ���*�������  �8� � **��-� ��� ����� ���*������� ����� ���� �)��  ����
����������2��� F��� �=������ ���� �������� �*�� �����G!� �������������2��� F��� �=������ 8���������� �*�� �����G!�
���
 *2���F����=������ �� *��*�� ����G!����)�� *2���F����=������������� *��*�� ����G��
�
������#	�0�9��+�8�8������� ������ $������*����3$���������� �8��-����� -��3 ��8� �8�*����8����3 ��8�� $$��
3����������*������!� �������$%� ��������*�������������� ����� ���� �8$�8�3%� �����0���������� ����������
���� �)�� ��� �� $�@�8� 3%� ���� �2#�� 
**��*�� ��� �����8��  ��� ������8��������8� F���8��-�  �%����������
���� -�� 3������� ���� ��������8� *����� ��� ���� ���*������G!� ���� $$��������8!� ���2�*$%��������8!�
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���2 �����������8� F��� �=������  � � $$!� ��*$%� ��� � ���� �*�� ����� ���  � ���*������ *���!� ������ � �� 3����
��������8���� ����������*������*���G��
�
'����� �����8��  ��� ���8�8� ���� �����+��-� ���� �� ���� ���  � ���*�����!� ����� ��� ���� ���*������ ��� ������-�
F����������*�����2�����-2��G� ��� ��� � �� �������8� ���� �=�������� F����������*���������2��G�� 
$��� ����
������ ����� ���  � ���*������ ��� ������ ��� ����  **��*�� ��� ��� 3%� ����������*����������� ��82���� 
�� ����

��� ���� %3�����8�8�3%� � ���������� ���� ��3�� ��������8�3%� ���.��
��2���� ����=���������� ��2��� ���
���8���������%������������������ ��� +���%�����*������������ ��8�� ��8������� ��� 3���������=����������� ����
������ ������������8���������8�����������*��� ���������������� �8���������� $�@ ���������������� ������� �������
��#�*����������$ ��������8����2����2��
������8���������%� $$�* �����* ���-������� �� ��������+�� 3$��������� ��
�������8�  �8� �� �� ���%� � +�� ��� ������� ����8� ��$%� ������ �=��������� #�� ���  $��� � $$�8� �����  � ����� � ��� ���
���**�8�3%�����������
�

�� ���� ��#	�0� 9��+�8�8� ������ ��� � �� ��$%� ���� � �1� ��� * ���  $$� �����8� � $$�� ��� ����  **��*�� ��� ��!� ����
�����8�� ������� ��#	�0� 2������8� ������ ���  ��� ���� � ���  �� ��� �0� 9��+�8�8�� 
�� �= �*$�� ��� ����
����� ���������*�����������8�� #�� ��� ���� � $�-� ��� ����� ���������*�����2��� �������#	�0�9��+�8�8!� �8�
���������!� ��� � ��  $��� ���� � ��� * � �������� ���� � ��� � **���� ����  $$� �����8�� ����� ���� �0� 2������8�
������ ����
�
&��� ���� �������� ����������8�� F���� -�� �8� *����8���� 3 ��8G� 8��������������8��� +�� 3���� �*������8��
����
����������

������F���������-� �� �%�������������� -�����������$�� $�*�������������������8�� ��8�
�����+������*�����!�� $$�8�3%� �����0� �� ���� $�� $��������� �� � ���������� �*��+�8�8� ������8��������8�
� ��3����� $$�8G!�����
�������

��

������F���������-� �� $$L�� $$�8�3%������0� ������$�� $��������� �� �
���������� �*��+�8�8����� $$��������8�� ��3����� $$�8G!�����
��������
���

������F���������-� ���*$%L�
� $$�8� 3%� ���� �0�  �� ���� $�� $� ��� �����  ��  � ������� ���  � *��+�8�8� ���2�*$%��������8� � �� 3���� � $$�8!�
����
������������

������F���������-� ���=��*����L�� $$�8�3%������0� �� ���� $�� $��������� �� ��������
��� �*��+�8�8����2 �����������8�� ��3����� $$�8G��

1����
�3�


�
���� �2#� ������ ��� ��������� ��� ���� ���� ��3������ ���� ����������� �����
�  �8� ���9$ �����9
�� ����
����������� �����
������� ����������������*�� �������� �� ��������� �%������*$������������������ ��������
���� ���/	;� �=���� 3$�� ����� ���� �)��� #�� ���$�8��� �*�� ������ ��� ����� $�@�� ���� ����� �%����� #����� ��� F��#G!�
��� 3$������������������������)�!� �8�� �8$������ -�� �8�*����8����3 ��8��������� ���������������)���
#�� 88�����!���������������� ����������� ���������� ���*�� �������������������)��
8 *����F�
G��
�
���������		�
������
��� ������ ���� �8$��� ������������ ����� ����� ������� ��� �����
!� ����� �����
�� �� ���
��*$������ ���� �*�� ����� 8�����8� ������ ������������������� F� $$�8� 3%� ���� ��� ����8� ��$%� 3������ ����
�=����������� �%� ������ ��G!� ������� F�
�� ����� 3$���� �8%� ��������������� ��� �����)������ �������������8�
��#�*���!�� $$�8�3%�����������������=������� ����/	;�� *��*�� ����G!�����
	���F�
��� $$��$���� �8%� ����
����������� ��� �����)������ �������������8���#�*���!�� $$�8�3%������������� ����=������� �%����/	;���� *�
�*�� ����G!������
��F�
�� �����8� ����� -����������)�!�� $$�8�3%�����������������=������� ����/	;����8�
�*�� �������� ����*������*���!�������� ��3����� **�8���� ���#�*���L�� $$�8����� $$����/	;����8��*�� ������
�������%��������*������� ��3�����*������8L���������8��-�������� -��� �����3��8��������������*�������������
�2#��*�� ������ $$G!������

�F� $$�8�3%�����������������=������� ����/	;�� $$��*�� �������� ����*������*���!�
������� ��3����� **�8� ��� ���#�*���L� ���� $$����/	;�� $$��*�� ������ �������%��������*������� ��3���G!�
������
��F� $$�8�3%�����������������=������� ���*$%��*�� �������� ����*������*����������� ��3����� **�8�
��� ���#�*���L����� $$����/	;���*$%��*�� �������������%��������*������� ��3�����*������8G!����������F� $$�8�3%�
����������������=������� �� �����*�� �������� ����*������*���L����� $$����/	;�� �����*�� �������������%�����
���*������ � �� 3���� �*������8G!� �����������
�
 ��	�
� F� $$�8� 3%� ���� ��� ����� ��� �=�������  � �)��  ������
�*�� ����!����� ���� ������-���$%G!� �����������
��	�
����F� $$�8�3%�����������������=������� ����/	;��)��
 �������*�� ����!������������ ����*$ ��!���������8��-�������� ���������*$ ���+ $���� �����3��8��������������
*��������������2#��*�� ������ $$G!������������F� $$�8�3%�������� �� �%��������������������
G��
�
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!� ����
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�!� ����
�������������
�  ��� � $$�8� 3%� ���� �
�  ����� ��� � ��
�����+�8� ����� -�:��*$%:*����8���	� $$:�=��*���������������)���� ��� �����3����8�� ��8������������
�
���������������� ��!�����
�� ��	��!�� ��$%� 88���������������$�������/	;��=���� $����������� �8�������� �8�
*��+�8��� ���� ��$$����-������8��� ��������
�
��
����
� F�*�� ����� ���� $$�8�3%� ������L� $$� ��� �8� ������ ���������
* � ����������� �������8�8�+ $���L� $$��������������* � ��������� $$����� �������8��������+ $��������$$�������
���%� �����$%������$�+ ����������������������������=���� $����������3����������������+�� ����L������������ $$�3��
��8�� ��8�3%�����9
����� �������+ $������ �%�����* � ������������	��$$G������������	��!����������	���F� $$�8�3%�
������������ ����������8�����3���� ���8:���**�8G!����������	��!������	����

�
��F� $$�8�3%������������� �
���/	;��� 8:������-� �������*�� ����� ��� ���3���=�����8G��'�� ����������� �8� �����	����� ���� $$�8�3%� ����9
�
 ����� �������� ���=*���8��&�� $$%���������������������� ���*�� ������� ��� ��3��� $$�8�3%�������� �� �%���������
����������9
��

1�1
����3�-$�.�
.2.%$��"*
.*��3"*+.*�


���� ��������������� �*����3$���� $�@ ������������8�����3���8����/	;�������%��������8��*$ %�8����������$$����-�
��-����� #�� � �� 3���� � ��8� ���/	;� 
 � -������  �8� �=�������� *$ ������  �8� ���� 3 ��� ���*�������  ����
���� ������F���$�8��-�������%����������������!��
!��0!���!��
� �8�9
!�8 �����!���������� � -��!� �8������
�����$����'2H
����*��*���8� ����88$�� ������������������� �����3������� $$����������*��������

�

!� ���
8�

 �� .��	���
��	������*��
����
��������������

1�1�	
��
����
�����
���)����


���� ������ ��� ������ ������ �������$�� ����������������%����� ��� ����8��������� ������%����������������!��
!�
�0

;
!���!��
� �8�9
� �8� ������8����� �8$�������������� �����3������������ �8������%�����������������

������ ��8���� ����� ���*�������  ��� ��� ��8� ������� ���� ���� ������  �8�  ��� ����� ���$ ��8� ����� �����8�� F �
���� ����� ��� ������ � �-��� �=�������� ��+��������G�� ���� ���*������� � ����� 3��  ������8� �=��*�� +� � ��$$�
8�����8� ������ ����� ���� ������ �����  3���� ��� ��8� ���*�������  �8� ������ *�%��� $� $�� ������ ��� �����8� ���  �

������������������������������ �����������������������
������'��������������%������	��	���
������)������!��������"���	���������+�%
������������������������������
�������
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��*������%���������������� ����������� ������ ���* ������������88$�� ��� �8� ������8����������������� �����
3���������������*����������8�����������8����
�
���� ����� �����$�� F�$$���� ��8� 3%� ����� ������$!� �=���������  �8� 8�*$�%����G� ��� ���� ������$� *����� ��� ����
�������� �����*$ ������ �8�*��+�8�����**��������*����%����/	;������� ���!���� ����������������!�8�*$�%������
������� �8����8�8�$�3� �������������� ������ �8�������$�����������=��������F�� ��� �8����*������������G��#����� $���
���8�������$$�����-��������$�-�����������8�����������8����
�
� ������ ����� �8 $����*������������� $$�8�����+��%������ �8����8�����������-���� �������� ���8��������������
�=����������+�������������%�� � -���������� ������������3�$��-����8�������������������
�
���3�� 3$������=��������$��*$������������������� �� ������F�������3%��������3%�� �%������G����������*�����
���������8��� ��3���������8���8��"����+��� �������������������� ���!� ������8������� ��8����������� �8� $$�
���� ������ * �����* ���-� ��� ����� �����  ���  ����� ��8� ����� ����� �8�� �������� ����� ���  $$���8� ��$%� 3�������
���*������������ ����� ����������� �8��
���� ��8!� �����������3�� ������ $� 8������� �����*����� �� ����� ����
 �8�� � -��� ������ �8�� F �8� ���������!� �������� ���������� 3��  $$���8�  $��� 3������� ����� �����%�  �8� ����
���� �����G������������%����������������
 � -����
�
������������
 � -��������������� $�@�8������%��� ��� ������-$�3 $�+�����������������=���������'������������8��
���� � -��� ����8��������� �������������� F��� ����� �8�� � -����������������� #8�G!� �8���� ������������8�� ���
*�������������8�*$�%����������-�� �������$�� �8����*����!�3 ��8�������� **��*�� ���8�����3������ $-������!�
����8����� �������8����� ��������*��������+��%��0�� �� ���������������������� � -��������8������-�������
���8�8� ������ ������ #�� ���  $���  � ����� $� ���� -�� �* ��� ���� ������ ����� $�1�� ���� $�� ����� ��� ����
��� ��� ����
�*��� $��������������������
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���88$�� ���*$ ���������������������� �����3�������8�����3���8��������� ���-���������*�������� �����3��
��$����8�������� ������������� + �$ 3$�� �� ����� �1��� **� ��� �� ������������� 3$��������'
.U���������
'3<���� 2������� H��1��� 
������������ F�'2H
G!� �)/N�� 2������ 
����8� #�+�� ����� F> + � 2
#G!�  �8�

��������N�� ������3���8� ���*������ '3<���� 
�8�$� F��'
G�� �'2H
� ��� *��*���8�  �� ��88$�� ��� ���� ����
�������� �����3��������������� �������������8�����������8�������������$$����-��� ������
�

• ������������ �8 �8� ����������������8�����3���8��3<�����%�����!�

• ��� $$������������$������ �8����+������*$������8����8���������*��-� ����-�$ �-� -���F���+������> + !�
�$���������??GL�������������� ����� ������%�> + �2
#��������*��*���8!�

• �'2H
���� ���*����� �8 �8�8�����8�3%�� �%�-$�3 $�1�%�*$ %����F��'
����
���������*��*���� �%G!�

• ��� ���  + �$ 3$�� ���� � �-��� �*�� ���-� �%������ ����=�  �8� "��8���� F��'
� ���  + �$ 3$�� ��$%� ����
"��8���G��

�
&����������� �* �����$ ��'2H!����������8�����3���8����+������ ����*$�����������������������������������3<����!�
� �� ���3����$����8������> + ���'2H� ���*��*���8������� ��� ��� + �$ 3$���������� �%� $�������-� ���� ������ -��
���������8����� $�*��8����!��������$����������������������*������8����> + !������� ��� �8 �8�* ���������P��> + ���
��(������+���������B� �8��*� �8� �8�� �������� ��$%�3������-� ��8�����������$�� �����������!� �8����*��+�8���
�������8�8��'2H
����+�����F/ ���-����+���!�9������������ ������+���!�����������%����+���G��
�
���������8���������� ����� ����������-�� �������$��F���G�-�+�������*����3�$��%����8�����3������* �����* ���-���8���
 �8� ���� �������� �� �� � +�� ��� 3��8�*$�%�8� ��������+��%� ��8����-��� 3�� �8�������8� 3%�  �� #9�  88�����  �8�  �
$�-�� $�� ��������$�-�� $�� ���������8�������*$��%�$ �������8�8�����������-����� ��������������������� ��� +��
��� 3�� �*������8� ���$�8�� ���� ���� ��� ��8� 3%� ���� �������� ���*�$��!� ���� �
� ��-������ ����� ����  **��*�� ���
��8���!� �8� $$�������$�3� ��������8�8�3%�����������������
�

���������*������8�����3������$ �-� -��F��8$G����*��*���8�����*����%��������*�������� +�����3��8�����3���8�
��� ���� 8��������� ���� ������� 
���� ��������$%!� ��� ����$8�  $$��� �*����%��-� ���*������ 8�����*������ F�%*��G!�
 ����3$���!�� **��-���$��!� �8�8�����3������ $-��������
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#�����*����3$������������3�������� �� $�8�*$�%�����F<������������-�����������%*��������*������-���������G�
 �8�  ���� ���� F������ ����� 3������� ���*������� ����� 3�� �*������8L� ���� ��������
 � -��� *��������� ����
������ ����� �8�*��+�8��� �� 8��� ��������-�� ����G��
�

1��
,"00�*0


��--��-� ��� ����� �=��������� ���  � ����� $� �$������ ��� ���� ����� ���� ����������� ��--��-� � �� 3�� ��=�� $$%� ���
-� *��� $$%��#�� ������� **�� ��!� �-� *��� $�$�--��-�3%��� ������ ���*������������ ��4������8�+�$�*�8�3%�
������������+����- ��8���
�
���� ��������� ����� ���$� ��� ����-� *��� $�+��� $�@ ���������3���+ ������ �8� ���+������ �� ��� **���8�8����-� ����
�=��������������/	;�������������������� $�--��-������� ���� ��3���� 8 *��8��������4��� $�����*��*����������
������ ��4���������$��������/	;�*��*�������
�
����� ��� -� $� ��� ��� ����� ���� �$����� ��� ���� ��������  ���3� -� *����  $$� ������ *��������!������� �=���� 8����-�
������-��"�� ����$8�  $��� 3�� 3$�� ��� 8�����-����� 3�������8��������� �%*������ ���*������� �=�����-� 8����-� �����
*��������.���� $$%� �������=����� $� %�������)�� �� ����*������3���-� �����8� �8� 88����� $����*�������
$�1�������	�
 �����������*�����!�*���	9 � $$�$���������*�����!�������$� �8��������
����8��-���������*�������
��$����������)���+��%�*������������)�������*�������8���* � ��$%��
����+���8����������*�� ��������*$�� ��8�3%�
���/;���8�������3��*�������8�������� ������3���������������.� *��� $�)����#����� ����
�
���� ������������ ���3 ��8���� ������������� ���4������ �8��� ������+��!�����+����+����� ���3��+��� $�@�8�
 ���*��8���8�8�����������=��������������/	;�����������-� ������� � -���F��-��.�
���� �!� �.)#�+����������
Q��� ������������$�� ����������G���
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���� ��$������� ��� ���� ������� �� ��� ���$� ���� ���/	;� ����� �=��������� *��*����� � �� 3���� � 8�� 8��� ��� ����
�=�����-�
9#��� �� $$���� ��� �%� ������+� ��'2H
!� �����=�����3�$��%� ��������-� *������������8��������/	;�
*��*����� �8� �����*���������� + �$ 3�$��%��&����������� ����+������* ������ ���� ���$� �� �� ���3 ��8���� ���3�
3���������������=��$$����� +�- ����� �8������� �������$�����-�� ��$�������
�
���� ������ * ��� ��� ���� ���1�  88����� ���
 ����������� ��� ���� ��8�*��8���� ����� ��� *��8����!� ��� ��� �������8� ���
���������

	� ������ ��4������F������� �����+��G�������
	� ����$�--��-������� ��������������:�.�
���� ���

�
�=������8����/	;��+�����������/	;������������� ����$�-��+�������� �� **$�� ������������$�--��-������� ��!�
�����������*$����� ���������+�����--��-#�*$�< + ��H%��� ������ ��'2H
������������F����-���-��'�3 ����O�
 �� ��� ������� ��G�������������� ������+������$�-������*�����
�
������$$����-���-����*�������� ���+��+����������������-� ����������������-�������-�+���*������
�
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H���8��� ���� ��*������ ����� ��� ���� ����� ���*�������  �8� *����� ��+�� $� �%�3�$��  ��� ���8�8� ��� *������� ����
�*�� ������8����8����-����������� ����

�
#��������$$����-������������*��� ����%�3�$�����8���������+��� $�@ ��������������-������� ������$$�3��$����8��

• ������*������ �����������*���������� �����

• ������� ����!��� ��� �8������� ����������������*�������

• �����=��������F�� ���:����*G���������� ����

• �������������������� ����������� ��!����*!����������
�
&��������������*��+�8�� �$������������%�3�$���� ����$$�3�� $������� <�����*��� ������

• +��8���������� �����

• �� ���������$��

• ���*�������$���

• $�-�� �������!���������*$�� ��������*�����������������������*��-� ����8��F*� ��G��

• * �����$ ��*�������������%�����)�8���������-�

• � ����������*������$��

• *������$�3�� +�����

• F��G� *�

• F8��G��������

• ���8����� -��

• ���� -�����������

• ���*$ ���� �����-�

• �������*������F��-���=������������� $$�G�
�


����8��-� ��� ����*������ $���� ���� $�--��-� ������ ��� ���* �����$ ��� ���� F��-��*����� **��-G� �8������������ ��
*����3$�� �8�� ��3����� 8��������������������� ���*�� �����F��-������ *G� �8������*�� ���������$��F� **�8G��
���� ��� ���� ��$�����-� � ��$��������� ���� �� ���+������ ��������� ��� 3$�� ��� ��������� ����*�������8� ������ ����� ��� ����
* �����$ ������������
�
������=�����*��������� **�� ������3������� $ 3$��4������.� *�����F�4.G����< + ����*�����8���#��* �����$ ��
����4��������$$�3�� 8 *��8�����*����������8�� ����8��-��������* �����$ �����/	;������3�� +������+�������4.�
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 �8� < + ����*��� ������8���� �� ���+��� $���� ���� ������ �����*��+�8�8�3%� ���� �� ������+����"� ������ ��� ���
8�+�$�*!� �������-� *��� $����*$ ������� �������������������������*��� ���* ��������������� �����3�������
�������/	;����*������� �8��)��*�����F�%�����)�8�������G���� �� **��*�� ���� �������
�
2������������  � $%���� ���������-� -� *��� $� ��*������ ����� ��� * �����$ �� * ���� �����8���� ���� �����*��� ���
.� *��� $� ����� �*������ ����� F���� .� *��� $� &��� �� ��� ���/	;G� �%�3�$��  �8� �� $ �� 4������ .� *�����
*����3�$��������

�
#������� 3$��3�$�����$����8��%�3�$�����.&���$����������������$ ��������*��*���8��4.��$������� �����������
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)��8�������=�� $����/	;�3��$� ��
�=*��������!�+��8����������-!�*�����*�� ������

F�� ��!����*� �8��$� �G� �8�����8����
�� ������!����3�� �� ���8���� ����*������

�%�3�$�

� �
�

��� ����%�3�$�



� �

��




)��8��������/	;���� ����� ������!����3��
 �� ���8���� ����*�������%�3�$�
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 �� ���8���� ����*�������%�3�$�
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)��8��������/	;����8!�� $$!���*$%!�� ���!�
�����+�!�-��� $$!�-����*$%!�� ���!����--��� �8�

����1��� ������!����3�� �� ���8���� �
���*�������%�3�$� �8� �*�����%�3�$�
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)��8��������/	;����*��������*�� ����!����3��
 �� ���8���� ����*�������%�3�$�
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)��8��������/	;���������� ����� ��8����
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**��*�� ���$���$���������������*������� ����3� ���8��� ������!��������*������� �8�������*����� ������ ��8�
 �8����������� ����� ���8!�������� �����*������ �������� �������� �� ���8����������� *��*�� ����!���8�� �����
 3���������� ������������������*������� �8�������3�� +�������
�
����������� ����� ���8�F **��*�� ����%�3�$�G� �8����**�8�F��$ ��+�$%��������G� ��������������-���� ������+�8�
���� -��� '*�� ������ $�1�� � �����-� ���  �� �������-� ���� -��  �8� +��8����� ��� �����  ��� 8��� ��� ���� �����
�*������ ��������������*������� �8������� ��������� ��������+��8����������-���
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�5��7�3 ��8� **$�� ����������� ���� �1�����8����3����$+�8��&����$%!������#���
8������������������������ ������ �����)�����8����3��� 8�� + �$ 3$�������������-����������� ����������� ��3��
8����3%����������*�����-�����#���8�����������8�����$%����������������������3%����������+�����-�����#���8�����������
�=*$����$%�������/	;� �8�����������*������������$���-����/	;�8�����������������8$%!�*����8����� $$��������������
�������� �� ����=�����8����8������$ %�8�+� ������'2H���������)���4����+��� !������)�������3�� 3$������ $$�
�*�� �������������������%����� �8��������*�� ������ $$��� �������3�� ���*��8���������=������-������� ����3%�
 �getcall ��*�� �����������8�������������������������%������=�������!�������������������8����������$%�����

�����8��������� �1�����**�����-������=�� �-�����*����8����� $$������������)����
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����8�� ��� ���� ���  ��'2H�� ����� ��� ���8�8� ���
��� 3$������������ ����� �� $$�3������������)�� �8�����������%������#��&�-�����B������'2H�� ��3������� ��
����3�����������+�� $�$ %���������'2H����8�����$%���������8���������)�����
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����'2H����������������
����� ��8�6'2H
�5��7!�����������P6P���8�� ������ ������'2H�� �� ��6
��3 ��8�

9#��������� ����� ��*����8����� $$�!���*$���!� �8��=��*������ ����=�� �-�8���������� **$�� ���������-�����
'2H���� ��6
��8�����8����� ���
�
"���� $��1��-� �� �����**���* ������ ������ $ %���!� �����������=������-� �*����8����� $$� ��� ��������������� ����
* � �������������������������� +�����3������8�8���������%� ���* ���8���������������������
���������/	;�

���$�TTthree �*��+�8��� �8�� �$������8��-����* � ��������� �� - ������3 ��8����6
���

�
)������� ��$%!� ������ ���� 6
�� ����� � 8�����������  ��� ���� ���� � ���� 
�� �������8� ��� ��%$�� ������
�� ������ ��������������8�������+��������6
������8�8�8 � �������������� ����������������
�
�����**��������8���8��-���� �������-�*����8����� $$�!� ������ $$����������)���������������%����!�����8���8���
����� �8�����*���������������/	;���-� �������������8�����*���������� �������� ������������-� ������ �8�����
�%*������������* � ������!��������+ $���!� �8��������=��*������%*���������8�����*���������� 8������ ���$�!�������
 - ��� � �� 3�� -���� ��8� 3%� ��������  ��  � 3%*��8���� ��� ��*�����-� ���� #��� 8����������� ��� ���/	;� ��� ���
���+�����-�����#���8�����������������/	;��
�
/���!��� ���+�������������� ����� 3����������-� ����������� 8��������$�!������
���� �-���������$�������.�+���
����� #��� 8����������!� ������ ��� ��� ���8� ��� 8�+�$�*� �*������� ��8�� ��� ��**���� ���� ������-� ���  **$�� ������ � ��
���������*$������������������������ ����
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����������� $$� �*����8������������)�!������� $$��������)��� $$� �*����8�����������������%����!������
������
3��  3$�� ��� ������ ���� � $$� ��� ���� ��$�+ ��� �3<������ &��� ����� *��*���!� ���� �
� ��*$������� ���� �����*�� ���
��

��������
������������ ��3�������-���8�+� � ���=���� $� ��������� ���������������/	;���������������� ���
����� ����� ��8������ �*���� ������������%����������� ����
$$���3��������� $$�����������������%�������������)��
 ������� �8�8��������������*��8��-������������4����+��� !�� $$������������)���������������%�������$$������
�*��������������������������� �8� ������������ �8�8��������������*��8��-�*���� ������������%����������� ����
�

�� ���� ������� ��� ������-!� �����������  ��� ��*$������8� �� �� ���$�@�� ���� �'2H
� � ���-� ���+����� ������
����������� ��������-���8��������������� ��� �8�*������3��������� �� ������+���� ��3�� 88�����8!�����
� ������ ����+���!� �8� ������$����� �����3<���� ��� �����)��� #�� ������$����� �����)���3<���� ��� ��$����!� ����� ����
���+����� ������8� ��������-���� �������������� ��� ����� �����8��������� �������������� ��� ��-������8� �� ����
� ������+���������)��� �� �����*������� � $��1�*���� ����� ������+����������3<����*��+�8��� �������8�8�
���+�����#������� ���3<����O�����������������������
�O��������8!������)��� ��� $$� �*����8�������������3<�����
�������$$���������� �8������ $$��������������%�����+� �����������*��8��-�*���������� $$�� ��3�� ���*��8��������

����� ������ 3%�  � getcall �� ������!�  ������ ��� ���� � $$� � �� 3�� *��+�8�8� 3%� ������� reply �� raise 
�� ����������� ����� ���*�����������*$%�����=��*�������$$� ����3�� ���� �8�8�3%� �������������� ��� ����� $$��-�
�3<�����'�� ����������� �8!� ��� �����3<���� ��� �����)�� ���� �� ����+��!� ����� ������������������� �������+����
� ������$��1��*� �������������������3<������������ ���-����+���� �8�������� �8�*����8����� $$�����������3<�����

������8���*$����� �������� ���������������������$%���8�����*$����� ����!�������8����������������� ���-�
���+���!� 3������1��8�����$%������ ������*�� 3$���3<���� ����������� F#'2�G��
����8�� �$���$$� 3��*��+�8�8� ��� ����
��=����+���������������*�����
�
/���� �� �� ���  88������ ��� ����-� ���+���� � ���� ��� #'2�� ���  88����� �3<����!� 3���� ��� ����� � �� 3�� ���8�  ��
* � ������������-� ������������ ������ ����+����� ��3���=�� �-�8�3�����������������%����� �8������)��
 ����$$� ��#'2��� ��3���=�� �-�8��"��$������ ��� $$%��=�� �-������ �%!�3�������+����� ���� �8�#'2��� ��
3��8�����8� ������/	;� ���� ������-�!� ������ ��� $��� �������8� ���-��� ������ ��� ���� #'2����� ����������������
��*��� $$%����� ����� ������������%��������� ���� �* � $$�$���������*�������� �� ���� �� ����+��!������-���3��
���8�8� �� ��  �� #'2� ���� ����� ���+��� ��� * ���8� ��� ���� �)��  �8� ���� �)�� $ ���� ��� � $$�� *����8����� ��� �����
���+���� 
���� � ��� $$%� ���� #'2� ��� ���� ���������� ��� ���8� ���� ����� *��*����� ����� �� ��� �� �� ���� #'2� ���  �
��������������� 3��� 8��  + �$ 3$�� ���  � ����� � �������� 8�� �$�� ���� ����� ���  ����+�8�  ��� ���� 1�����  �� ����
�������3�� �����������������������-�#'2�� ����������$%���*$������8��

1�5��
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/������ 


�
� ���#����*�� ����� �8�����������*��8��-����/	;���-� ������ ��� +�� �$��������=��*�������� ��� ��3��� ���8�
3%� ���� ���+�������� *��������-�  � � $$�� #��  88������ ��� ������ �=*$����$%� 8�����8� �=��*������ ��� #��� 8����������!�
� ���� $$���� ��'2H
� **$�� ������ ������$������������ ���������'2H
��=��*������������� ����=��*�������� ��
 ���8�����8� $�� 8%���������'2H
��� �8 �8!�3�����������+��8����*��������=��*������ ��� $���*����3$���
�
�����
������3�� 3$������ �8$���������'2H
��=��*���������+ ������� %���/������ �������
� ����������������
������-� 8���� ���� ��**���� ����� �=��*������  ��  $$!� ���������� ���� ��� ��8��� ��� ����� ��3�������� *�������� ����
+ ������� %�������'2H
��=��*������� ����������� ������� ����
�
#�� ���� ���������� ����!� �������� �� ���� ������%������ $$�� �*����8������� �����)���H���� ����'2H���� ���� �����
�%����� ����$$� ������'2H��������������%������ ���8�����%������*��3$������������*����8����� $$� �8�� ����
���� ��� ���� �'2H
� �=��*������� #�� 3���� � ���� ���� �
� � �� ��� �������� ���� ���/	;� ��*������ ����� ���  �
�'2H
��=��*����� �� ����������%���������������� ���� ��������� ���������*��8��-$%������ ��+���� ��������
�����8���8�������*��8��-$%��'���� �� �� -���� �� �� ��� ������ ��� ������$8�3������������� �� �� �����
�8��������
� ���� ���=��*����!�3��� ��� $$%����������+��8����������������� ������error ����������-�� ��-��������-!� �8�

�����*��3 3$%����������� ���� �����3����������8���� ��� ���-��$�� %��
�
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#�����������8����� ����!� �������� �������)��� $$�� �*����8������������)���
- ��!�3��������'2H�������������
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#��5��7� �-������� **�� �������6
��������/	;�� ��3������+����- ��8������� ������������������ **�� ��� ���
����� **��-��������6
��3��$�	����%*���������/	;��%*���F��-��8���� $�������/	;��$� �G!����������8�� ��������
6
��� �����F��-��� =#��$���+��$� 8��������/	;�+ $���������������G!� �8�����-���� �����������������8����/	;�
�%*��������6
�����*$�=�%*���*������ ������F��-�������������� ��$ ��8�������/	;������G��
�� �=�$� �%����/	
;���8�$��� ��3���������8���8���������� **��-���� $$�3��$�	����%*������������ ����������**���������������������
����������/	;��
�
���������������������� **��-���$$�����������������������������6
������� ��&��������$��1����������3��$�	���
8 � �%*��!� �8� ����� �8��������������*��������� ������$ �-� -����������
�
H��$�	��� 8 � �%*���  ��� ���������8� ����� *������+�� ����!�  �8� 8���+�8� ������ ���� $ �����  ��� 8���+�8� ����� ����
*������+������!�3%��� ������������������!�$�1���$��-��!���@�!�$���!�� �-�������������������������� ���� $$�8�� ������
&����+��%����*$��%*�!�*������+�����8���+�8!�� ������ ��3�� **$��8!� �8� ������%*����$$�3�� + �$ 3$����������
�+��%�3��$�	����%*����������� �$�������*����3$��� ������� ��� ��3�� **$��8������!� �8�8�*��8��-��������� ���!�����
������*��8����� ��� ���/	;� ��� 8�����8�� �+��%� 3��$�	��� �%*�!� ��������  �%� � ����!� ��� � **�8� ����� ���� 3��$�	���
� ��!���� ���8�$��� $$�8�6��
)6��
�8������+��� ��������*$��%*�����8�����8!����������3 ����%*�� �3��$�	���
���L������$$�3��� **�8�����-�8������ �������
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8������������������%*�!�������+��%� + �$ 3$��� �����
������ **��-�����3 ����$ %������6
������� !����������3��$�	
����%*��!������ **��-���������� **��-��������������$$����&����� �!��+��%������������� ��� �� **� �!�-$�3 $$%����
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 **$%��-� � � ���� ��� ��� F ��8�������8� ��� ����*��+������������G!�3��$8��-� $���������������������������*$�� �%*����
���*$��%*��� � ��3��8�����8�-$�3 $$%!��������� ��� ����* ����� ���V����� W!� �8� ����V� ��W� ����3���� ���
� �8 ���%!� �8����%���$$�3��� **�8���������������/	;��%*������-��� ��� ����
�8�������%�� ��3�������8����
������8������������'�����%�� ��3��8�����8�$�� $$%!� ����� ����V� ��W� ����3����8�������� **� �!�������%���$$�3��
� **�8������ �� ���� ����-���� ��8�� ��!�3������%���$$�����3�������8����������8������������0���������$$�-�+��
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���� ���*$�=�%*�� ��� ���8� ���� ��� ���-� ���� �%*��� �� �� ���� ��� ������ �$�������  �8�  ����3������ ����� ��� ���
����� �������� �������*$��%*��� �� ��� ��������� ��� ����3������>���� $�1�����*$��%*��!����*$�=�%*���� ��3��
8�����8�-$�3 $$%!��������� �������*����3$��* ������ ����V����� W� �8�V��8�����W��"�������%� ���8�����8�
-$�3 $$%!�����M� ��M� ����3���� ���� �8 ���%!�������������%*�����$$�3��� **�8���8�������-�+���+ $�������� ��
 ����3����� 
�8� ���%� � �� 3�� 8�����8� $�� $$%!� ��� ������ � ��� ���� � ���  ����3���� � �����  **� �!� ���%� ��$$� 3��
� **�8�����-� �� ���� ����-���� ��8�� ��!�3������%���$$�����3�����8�������������*$�=�%*��8������������#��
���������8�!����%�� �����3�����������8������������8����������!� ��������*��*����� ��$�� $$%��
�
&��� ����� **��-!� ���� �8� � ��� ��� � 1����* � ��$%��+��%����$8� �� �� ���� ��� +�!� �8� ���-������������*��8��-�
���/	;� ��8��� &��� �= �*$�� ���� ��	�
������� � �� ��$8� �*���� $�  �� �
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��������� ���� ��*$����� �����  $$���� 3����  �� ��*$����� � **��-� ��� 6
�� ����������� �����  �� ������ $� �����
��*������ ������������6
��8����������� �8� $��������=*$������� ��$ �������������/	;��������� ������%�� =�8���
������� **$�� ���������������������*������-��� ��������� ������8����*��
�
���� �� ��$ ����� �����6
������ � ������/	;����$8�� +��3���� ��� �8	 $���� ���$!�3��� ��� ������8�8� ���� ����
��*���� � �8$�� ����� ���/	;!� ��� ��� � �� 3���� ���$�8�8� ��� ���� �������� ���*�$���� &��� ���� ����-� ����� ��� ����
�����������*�$��!������ **��-����8�+�8�8��������* �����M��*$����M�� **��-!��� ���� ��$ ����6
������ ��������
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� F�%*�8����������'3<����
�8�$�G� ���������!�  �8� M�=*$����M�� **��-� �� �� �� ��$ ���� ����� ������'
�
�����������������/	;��%�� =������������� **��-�����3� ���8����������6
������ �* ������� ����$$�3��8�����8�
3�$��!�  �8� ���� ���� �����8� ���� ��� ���8�  ������� ���$!�  $��� ����-� ��8� ��� ���� �������� ���*�$��!�
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�%�� =����*$ ���< + �� ���� �������� ���$� ���  � > + �  **$�� ����� �� �� ������ ����� ���� ���� > + � 2�������
��+���������F>2����;��G� �8�> + ����*�$���F#H
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�� �������� ��$ ����������6
������ �������/	;�� ���������!�������$8�3�������$���%�<�������� ��������������
���  � ���$� F�%�� =����*$ ���< + G� � �� 3���� ���8!� ���� �� ��$ ���-� �������'
� ��� ���/	;� �%�� =�� 
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+������ ����� ��� ���� �� ��$ ����� ���� � �� 3�� 8���� �� $$%� � �%�� ��� ���� ������ +������� ���� �����6
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#�� ���� ��$$����-��������� �� ������8%� ���*�������8� ����=*$ ��� �� �� ����*����6
�� ������/	;�� **��-�O� ��
8�����3�8�3������	�� %�3����������������� ����������8����� $�8�� �����������������������8�+�$�*�����*�������
�+��������������� ��6
�	3 ��8�8 � ��%*��8�����*����� + �$ 3$�������
'����������� $�� � $�-�F&� �G����������
 �������+�� � ��� ���8%� � �� 3���� ��$����8�  ��  ��  **$�� ����� ��� ���� 6
��� **��-� ��*$����� ����� ������ ���
���*������ ���� 8����������� ��� 
'��� 8�+�����  �8� ���������� ��� �� �8 �8�@�8� 6
�� 8���������� � ��� 
'���
���������� %�� +��8����������*�� ������%*�������� ���$ ��8�* � ������$�����H���8��������-$������=��+������� �8�
8���������*�����8�� 3$����������� � $�-�����
'������*�� �����*��+�8�������� �������� 8 3$��8������������
&� ��� ����� ��$����� ����������������� ���������3$��1�� �8� ��������� ������ ���� F�� ��8�8G� �8� �������*��8��-�
8 � ���$�������=�$�������-�+��������� ��������������������������������-� ������ �8�* � �������%*����
�
#�� ��� ��*��� ��� ��� 3��  � ���  3���� ���� 8�����3������ ��� ���� &� �� ������ �����  ���-� ���� ���� ��$���� ���� �%*��
8������������$��*��+�8��� ����������������8�����3��-������������
'����������� $�3$��1�� �8�������������� ���-��
 3��� ������$�+�$!��������������8������������*����������� �������$ ��8���� $$�
'��������������������� 88������-�
 �%� * �����$ �� ��������� F�8��������!� * � ������� ����G�� H���8�� ����� -���� $� �$������� ��� ����� �����  3���� ����
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�8������� ����� �8�+���������� ��������������� ������������� 88�����������*����3�$��%�������������*��*������� �8�
�����8�����*��� $$%� ���� $ ����� �����8�������-��8����������*�� ����� �%*��� ���������8����� �8�� �8���*������
&����������� ���*��+�8��� ���� $������� $$���8�* � ������ �%*��� ���
'���3������� ���� ��$ ��������* � ������� ���
�����������
�
&��������  �8�* � ������ � ���� �8� ���� ��=�� $�8�����*������ ����$$�  �� ���� 8�� �$�� ��� ����* � ������ �%*���
F��-��+ $������*�� ������������G� ���* ������ ����6
�� ��$����$%������6
�� ��$������ ���� ���� ������ �������� �%�
* � ������*��������������� �
'�������������&��������������*��+�8�������������� �������������*������$�8 � �
��8��-�F��-��&H$��1#�!�&�������#�G��
�
#������3+������� ��������-�
'��	3 ��8��������� ������ ����������8�������8 � ������������-�+��������������
 �8�6
����$����#������$8�3��*����3$����� 88���������&� �������������������������/	;������������3�� +����� �8�
8 � ����*$ ��������������� �� ���� ������ ��$ ������������
'���&� ����������/	;�����������8��

���-�������������$�=�3�$��%� �-���� $� **�� �����������
'���&� ���� ������ ������ ��3������$����8��&����!�����
���� 8���������� ��$$� 3�� �� ��$ ��8� ����� ���� *�*�$ �� 6
�� ����� � 8���������� F6��G� ���� ��  �8� �����8$%�  �
-�������6���������/	;��� ��$ ��������8�����3��*�������8������� ��$ �����������8��������������� ������ �%�
���� ��� 6
�� ����� ����+������ F��-�� ���� ����$%�  + �$ 3$�� ���� ��� 6
�� ����� ����+������ R8�8�=�Z� �����
�%���=�G��&��������� ������ �����������/	;���N+�� **$��8�����6���������/	;��� ��$ ����������������� ��������
����
'���&� �������������������$���-����/	;�8 � ��%*���� +��3�������������*$�=�������� ���� 8��-� �8� �
��8����8� **�� ���������������-� ����� �8��� -���������
'���8�������������$$�3��*��*���8� ����$$������
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&�$$����-����� **�� ����$$���� ��8����&�-����������������*��� +�����3�������8���8����������������������������
���:6����������������������8 � ��$��������� �� ����3���+ 3$��8����-�������-!��� ������-� ��������6
��8 � �
����� ���� ���:6��� ���������� 8���������!��� ���� � **��-� ��� ���/	;� 8 � � �%*��� �� �� ��$$� 3�� ���8� ���� ����
8��$ � ��������8 � ����*$ ���!� �8�������-���� ��������* � ��������8����/	;�8 � ����*$ �����
���*��� �8���8�����3������*�������*���������������/	;�
 **��-����� ��� 8 *��������*����������������� $�
 �������� ����*� 6
�� 8 � � ����� ����$�� 3 $$ ��� F��-�� ����+�� 8������� ����� �$������G!� ����%� �$������� �����
 ���+ $�������������!�8���8�������+��%��$����������������$8�8�����8�-$�3 $$%����$�� $$%� �8����*$��%������������3%�
� **��-� ����� ���3 ����6
������� � �%*�������� #���-� �������� ���� ����8 � �� �� ����� ��� � �1������� ����
*������$����������������
'��� �8��$ �������������������3%�����-� ����3����� �8����3����-���$��*$���$��������
#��*�����*$�� ������ �� ������ ���������6
��8 � ������������ ���8���� ���� ��� $$%!� �������$%����*��� ����6���
��������������8����� �� $$%��
�
#��������$$����-����*�������
'���� **��-� **�� ���3%� ��� -��������������
�&����������������3$��1��
�
���V`		�&���������/������ �����		W�
����V&�������W�
������V&�������#��&��������������XM����8�� ����MW�=���V:&�������#�W�
������V&�������/ ��W/������ ����V:&�������/ ��W�
������V&�������������*����W5a7V:&�������������*����W�
������V&�������4�������
�����XM*�3$��MW5a7V:&�������4������W�
������V&��������$ ����$ ��2��XM�$ ��^���$ ������8^*��*���%MW�
� V&��������$ ������W)��$ ������8�9��*���%�V:&��������$ ������W�
� V9��*���%W�
� ��V9)��$ ������8����-��XM�MW�
� ����V`		�������$�		W�
� ����V9)9 � �W�
� ������V9 � �/ ���9 � �#8=XM�MW������$V:9 � �/ ��W�
� ������V9 � �������*����W5a7V:9 � �������*����W�
� ������V9)9 � �'9�%*�W�
� � V9)���� �8W�
� � ��V9��8����'9�%*�2��XM9��8���MW�
� � ����V9 � �9��W�V:9 � �9��W�
� � ��V:9��8���W�
� � V:9)���� �8W�
� � V9)2�*���:W�
� ������V:9)9 � �'9�%*�W�
� ������V9)9 � ��%*�W�
� � V�������%*�2��XM�%*�^����M������
 =XM;MW�
� � ��V�����4 $�����8�XM�=��MW���
$$V:�����4 $��W�
� � ��V�����4 $�����8�XM�=��MW���&�������V:�����4 $��W�
� � ��V�����4 $�����8�XM�=��MW�$� �
$$�V:�����4 $��W�
� � ��V�����4 $�����8�XM�=�;MW�$� �&�������V:�����4 $��W�
� � V:�����W�
� ������V:9)9 � ��%*�W�
� ����V:9)9 � �W�
�
� ��a������9)9 � ��8�����������a�
�
� ��V:9)��$ ������8W�
� V:9��*���%W�
������V:&��������$ ��W�
����V:&�������W�
�
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�����*��*��������-!�����&��������$��� ������
� �����������-� ��8�6���8 � �� ��������*�� ������$�������$�1��
�	�	��
��($��� ������
(��	�����  �8�  $$� ���8� �%*�� 8����������� F��-�� �	�	��
��(��
���
(����G�� 
��
��*��� ���� �������!��� ��*������$� �8�8��������������������� +��3������8���8���� �������-�8�*���$������������
�
��V=���$������� ��XM
�&������^/������ ����^9��8���MW�
����V=�����*$�=�%*�W�
������V=����������W�
��������V=���$������� ��XM&H$��1#8M��%*�XM
'��^&H�'�(^#�M���=�8XM�=B�M�:W�
��������V=���$������� ��XM#��� ���#8M��%*�XM
'��^#/��
/��^#�M�:W�
��������V=���$������� ��XM&�������#8M��%*�XM
'��^&)/��#'/^#�M���=�8XM�=���M�:W�
��������V=���$������� ��XM'*�%*�M��%*�XM
'��^'9�b9�M���=�8XM�=�M�:W�
��������V=���$������� ��XM������$M��%*�XM
�&������^������$^�%*�M�:W�
��������V=���$������� ��XM��+���#�M��%*�XM
'��^)"'2�M�:W�
��������V=���$������� ��XM&1�#�����M��%*�XM
�&������^&1�#�����^�%*�M�:W�
������V:=����������W�
����V:=�����*$�=�%*�W�
��V:=���$�����W�
�
��V=�����*$��%*��� ��XM
�&������^������$^�%*�MW�
����V=��������������3 ��XM
'��^)Hb��MW�
������V=�������� �����+ $��XM�MW�
��������V=�� ���� ����W�
����������V=��8������� ����W���
$$V:=��8������� ����W�
��������V:=�� ���� ����W�
������V:=�������� ����W�
������V=�������� �����+ $��XM�MW�
��������V=�� ���� ����W�
����������V=��8������� ����W���&�������V:=��8������� ����W�
��������V:=�� ���� ����W�
������V:=�������� ����W�
������V=�������� �����+ $��XM�MW�
��������V=�� ���� ����W�
����������V=��8������� ����W�$� �
$$V:=��8������� ����W�
��������V:=�� ���� ����W�
������V:=�������� ����W�
������V=�������� �����+ $��XM;MW�
��������V=�� ���� ����W�
����������V=��8������� ����W�$� �&�������V:=��8������� ����W�
��������V:=�� ���� ����W�
������V:=�������� ����W�
����V:=�������������W�
��V:=�����*$��%*�W�
��V=�����*$��%*��� ��XM
�&������^&1�#�����^�%*�MW�
����V=��$���������%*�XM
'��^)"'2�MW�
������V=��� =���-���+ $��XMDM���=�8XM����M�:W�
����V:=��$���W�
��V:=�����*$��%*�W�
�
��������$���-����/	;�8 � ��%*��� �8����*$ ����� +��3����*��8���8����������6���������/	;��� ��$ ���� �8�
� ������3�����������8���������� ������+��%�'*�� ������ �������$������8�������������������*������$�����������
 �8� �������*��8��-�* � �����@�8����*$ ����
�
�%*�������8�
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��
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��
'��^�%*���
'��^'9�b9��'*�%*�!�
��
�&������^������$^�%*��������$!�
��
'��^�%*���
'��^)"'2����+���#�!�
��
�&������^&1�#�����^�%*��&1�#������
]�
�
�%*��
'��^�%*���
'��^)Hb���
�&������^������$^�%*��F�!��!��!�;GL�� �
�%*���������
'��^)"'2��
�&������^&1�#�����^�%*�L�
�
���*$ ����

�&������^/������ ����^9��8���^^�$������
�&������^/������ ����^9��8���^^���*$ ���
F�
�����*$ ���
'��^�%*���
'��^#/��
/��^#��* � �^#��� ���#8!��
�����*$ ���
�&������^������$^�%*��* � �^������$!�
�����*$ ���
'��^�%*���
'��^)"'2��* � �^��+���#�!�
�����*$ ���
�&������^&1�#�����^�%*��* � �^&1�#������
G��X�
\�
��&H$��1#8��X�PB�P0!�
��#��� ���#8��X�* � �^#��� ���#8!�
��&�������#8��X�P���P0!�
��'*�%*���X�P�P0!�
��������$��X�* � �^������$!�
����+���#���X�* � �^��+���#�!�
��&1�#�������X�* � �^&1�#������
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�
#�� ���� ��$$����-� ��3�������!� ��� *��+�8��  �� �����8������� ��� ���� �??� ��� ���/	;� $ �-� -�� � **��-� 3%�
8�����3��-������??��$����������3��� **�8������������������������	
�8 $�*��<���������$$���� �������� **��-!�
 ���= �*$�����*��+�8�8!� ����$$�����������8���3�����������$����� �� �������������������/	;�������%���������
������??����*������� �8������� ������� �*$ ��������8�*��8����� %��#����������8���3�������!� ��� $�@ �������� �
*��8�����8� 8 *� ��������8�������8��

1�@�	
%CC
��
��%*<�
+����� 


�

� �%*�� $� ������=��������� ������ �����??�3 ��8����*������ ������-� ���$�8������������ ���� $$� ���� �������������
���*��������8��������F����!������8��+���G� �8��������$ ����������	�=������������ ������*�������F����!����3�G!�
�������������*��������8��������8�*��8���������8�����$%� ����������*��+�8�8� �8��������8������� �����������
���*������ ��8��� ����!�  � ���/	;� 3 ��8� ����� �%����� ��������� ��*������ ����� ��� ������ ������ ����� 
��
 **�� ��������*����������������� ��� ���������/	;�$ �-� -��$�+�$�������8������ ���=*$������ **��-!���-�!��??�
�� 8�����$���$������� ����� ��$ ��8���������/	;�$ �-� -���$�������3%��� ������8�8�� ��8�� **��-���$����
������*�������8������� ����� �������3�����8�3%����/	;������� �������� $$�������������������??����*������
��8��������F�)�G� �8��������$ ������	�=��������??������ ������*������������� **��-����3��8�����8��������
���������� ������	
�8 $�*��<������ $$� ��$$��������=*$������ **��-!�����������$8� ���$�8������������8�����8� ���
� 3$��B����
�
� 3$��B�����??�0� 8�����$���$�������
�
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�%*��8����������� ����
��9�����\����=!�%L]�

���*$ ���8��$ � ������ ��)�����V
������W�
�����IL�

���*$ ���8����������� ��)�����V
������W�
�����4�\:c���c:]L�

&��������8��$ � ������ �=������������$��F
�����
���cGL�

#�$�������������8����������� �������
����-��F
���c�*G�\�������c*??L]�

� � �8��$ � ������ �=��������� L�

����� ���8����������� 
�����������*��X�;��B��E;L�

������ ������ ���)���-���\��8!�%�$$��!�-����]L�

/ ���8��$ � ������ 
�����
 ���=L�

#��$�8��8������+��� D��
�����V $-������W�


 ����8����������� D�������4�2�#'/����

���8����� $����*�$ �����8������+��� D������^^�*$��*$���

��������� �E�����1�������8������$��E��

�
�

���= �*$������??�������/	;�� **��-����*��+�8�8����� 3$��B����#�������= �*$�!� ��&�$���$ ������� **�8����
���/	;���$$����-�� **��-���$���8�����8����5��7��
�
� 3$��B����
���= �*$������??�������/	;�� **��-�
�
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class CFile : public CObject { 
public: 
 
 
 
 
 
 
 
 

module CFile { 
// include definitions from “super class” 
import from CObject all; 
// include C++ basic types e.g., CppInt 
import from Cpp all; 
// include definitions for types that are  
// implied by CFile.h e.g., CString and  
// UINT 
import from OtherTypes all; 
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// member functions 
 
 
 
 
 
 
 
 
CFile(); 
 
 
 
CFile(LPCTSTR lpszFileName,  
      UINT nOpenFlags); 
 
 
 
 
virtual UINT Read( void* lpBuf,  
                  UINT nCount); 
 
 
 
 
 
 
static BOOL GetStatus( 
    LPCTSTR lpszFileName, 
    CFileStatus& rStatus); 
 
 
 
virtual ~CFile(); 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
// enums 
enum OpenFlags { 
  modeRead = 0x0000,  
  modeWrite = 0x0001  
} 
 
// member variables 
UINT m_hFile; 
 
protected: 
// member variables 
BOOL m_bCloseOnDelete; 
CString m_strFileName; 
}; 

// member functions are mapped to TTCN-3 
// signatures 
// - constructor returns a unique value  
// for a new object 
// - DefaultException is used if no 
// exception is declared by the C++  
// function in question 
// - inherited functions are defined   
// explicitly 
signature CFile_no_params()  
    return CFilePtr 
    exception(DefaultException); 
 
signature CFile_two_params( 
    in LPCTSTR lpszFileName,        
    in UINT nOpenFlags)  
    return CFilePtr 
    exception(DefaultException); 
 
signature Read( 
    in CFilePtr this /* the object */,  
    in CppPtr lpBuf,  
    in UINT nCount) 
    return UINT 
    exception(DefaultException); 
 
 
signature GetStatus( /* no this */  
    in LPCTSTR lpszFileName, 
    in CFileStatusRef rStatus) 
    return BOOL 
    exception(DefaultException); 
 
signature DelCFile( in CFilePtr this)  
    exception(DefaultException); 
 
// “inherited” 
signature CObject_IsSerializable( 
    in CFilePtr this) 
    return BOOL 
    exception(DefaultException); 
 
 
// we need to declare the port for the  
// signatures 
type port CFilePort procedure { 
    // test system makes the calls -> out 
    out CFile_no_params, 
    out CFile_two_params, 
    out Read, 
    out GetStatus, 
    out DelCFile, 
    out CObject_IsSerializable 
} 
 
// enums are mapped to constant integers 
const CppInt modeRead:= hex2int(‘0000’H); 
const CppInt modeWrite:= hex2int(‘0001’H); 
 
 
 
// member variables are represented by  
// a record type. also the super class  
// needs to be included 
type record CFileType{ 
    UINT m_hFile, 
    BOOL m_bCloseOnDelete, 
    CStringType m_strFileName, 
    CObjectType super 
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� } 
 
// we need to map the C++ pointer  
// operators. signatures or external functions 
// can be used. utilizing external functions  
// reflects the fact the these functions are not 
// “tested” but rather they used to set and  
// retrieve the test data  
type octetstring CFilePtr; 
external function NewCFile()  
    return CFilePtr; 
external function SetCFile( 
    in CFilePtr this,  
    in CFileType newValue);  
external function GetCFile( 
    in CFilePtr this)  
    return CFileType; 
external function DeleteCFile( 
    in CFilePtr this); 

]�

�
����  ��� ��� ���� �� �8 �8�@�8� � **��-� ��$��� ��� ��� *��+�8�� ��$��� ������ ���� ������ ��� ��� �)�� � �� 3��
��*�������8����� ���������������/	;������� ����$�� ��� �����$ ���� -��������/	;����* ��8������ ����� �����
������������������ �����*$������8������ �*��-� ����-�$ �-� -�� �8�������������**�������8��+ ����%���������
� ����������������������� ��� 3$�������*��������%*������ ������ 3��� ���$�+�$��� ��8�*����8�3%������ **��-�
��$��� $����-���������-���$� 8�������� ��������������� ���� ����-���� ���������� ����* ���������/	;������������!�
��������$��������� �3�-����������� ����!�������$��-���*����3$���
$��!������ ���-����� 3��� ������$�+�$�$� 8��
��� ����� ����������� $$�����8�� �$��� �����3�������8����������������� ����������88������������ 8 *� �����$ %���
�
���� 3��� ��� ��$���� �����3���� �8 �8�@�8� �� ���%�8���+�� ������ ������������� ����������*��*����������� ���
 $� %�� � ��� �*��������/�+�����$���!� ����  3��� ��� *������ ����� ��� �%*������ ����� �$�=�3�$��%!� ���� 3�$��%�  �8�
�� 8 3�$��%���� ���������������� �8�� 1������������������8�+�$�*�������������������� ������������=����� ���-�
8�� �$�� ����������$�8�8������������������������������$8�3�������3������� $����* ��8���� ���� ����-���� �����

��� ���� ������ ������ &��� ���� ���!� � **��-�  � vector<MyClass*> � ��� ���/	;� ���$8� $� 8� ��� �������� �%�

���*$�� ���� ���/	;� ��8��  $����-�� ���� ����� ������ ������� ��$%� ���8�8�  ��  �� %� ��� �$ ����� ������ � �� 3��

� **�8� ��type record of MyClass ��� 3$��B����$$���� ����������

�

� 3$��B����
����*$����8��??�������/	;�$ �-� -��� **��-�

���������F��
)����� 
 �(����
�
)����� 


testcase MyTestCase() runs on MyTester { 
  : 
  // the functions used in this test case are  
  // external or TTCN-3 functions. the TTCN-3  
  // functions shall further utilize signatures  
  // or external functions to address its 
  // purpose. code excludes also error handling  
  // code 
 
  // create the pointers 
  var VectorMyClassPtr list :=   
      ef_NewVectorMyClass(); 
  var MyClassPtr myClass := ef_NewMyClass(); 
  var MyClassPtr myClass2 := ef_NewMyClass(); 
  // set the fields of myClass and myClass2 
  ef_SetMyClass(myClass, {1, 3.14}); 
  ef_SetMyClass(myClass2, {0, 3.14}); 
  // add the myClass and myClass2 to the list 
  f_AddVectorMyClass(list, myClass); 
  f_AddVectorMyClass(list, myClass2); 
  // call the function under test 
  myPort. call(s_MyFunction:{list}, nowait); 
  : 

testcase MyTestCase() runs on MyTester { 
  : 
  var MyClassArray list :=   
      {{1, 3.14}, {0, 3.14}}; 
  // call the function under test 
  myPort. call(s_MyFunction:{list}, nowait); 
  : 
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#���� 8����� **��-�������-� ����������������!���������$8������8����������������%*������* � ������!��������
+ $���!� �8��=��*���������$8�3��8�*����8��������� %��� ��� ��������� �%��� -��������� ������������ 3�$��%��

�� �= �*$�� ��� ����� ��� ������ � ��� ��������� ��� ��*$������8� 3���� ����� > + � ��� �??�  �8� ���� �������
��*������ ��������8�����3�8�������/	;���8�����������������������

1�@��
��%*<�
����
�&���)
���
%CC
%�)�������


�
#����8����������-� ����??�3 ��8������ ������������> + �3 ��8������������� ���������!���������-� �����8�������
 �8�����3���8����/	;��������������� �������������������%�����8���������� ��������%�����������)�!�3�������
�������� ����� 3������� ���� ����� �%�����  �8� ���� �)�� ��� �� $�@�8� 3%� ���� �� ��� ���  �� �����*�������
�������� ��������� ������
�� �� ����� ��� � ��!� �����  ������������ � �� 3�� ���$�@�8� ��� ������??� ���*�������
�������������� $��%������*$������8��+���� �%��*�� ���-��%�����*���������F����!������)����� $���8�����3���8G��
���� ���������������8�*����8����&�-�����C��

9��8�����8�
8 *� ����
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!��0!���
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���� ������%����� ���$�8��� ��)**���������� F)�G� ���������$� �8��3���+�� �����**��� ������ ��� �8� ����������
������� F��G� ��� ���� ���� $����� ������ ��� ��� ���� ���*������ )�8��� ����� F�)�G�� ���� )��  �8� ���� ��� ���-�$%�
������*��8� ��� 8��+��� �������� $��%�  �8� ���3� �������� $��%� ��� -���� $� *��*���� ����� ��� ������-!� ���*����+�$%��
0���+��!�)��� �������+��� $$������������)��F��-�!�� $$�3 �1�G� �8����� �������$ �������$����� ������ ������
�)�������������)�� �8����� ������ ��� $������3� �8�8��+����������� $��%��
$��!� �8�����������3���������� �8�
�*�� ���-���+���������������$� F'��G� ���� 8���"���� ��'���*��+�8���������$� �8��3���+ �������� ���� �� $�
�*�� ���-���+�����������������)�!����������8��������$ ������	�=����������*��������#�����������8�!�����'���
��$%� ����� ���� ����� �*�� ���-� ��+��������� ������ �������� ������ ���� ����� ���� �)�� ���$�� ���� ��� 8�����$%�
������ ���� ����� ���� �)��� )�!� ��!�  �8�'���  ��� ��*$������8� ����-� ���/	;� ����� $ �-� -�� ������ �??� ���
���/	;�� **��-���$��� ������$�@�8������*���������������������8� �8�*��+�8�8������� ��������)���
�
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�=��������F�
G!� �8���*��������$���F�
G���0�������8���� 8�����������������*�������$�� $$%����� $��
!� �8�9
�
��**���� ���� 8�����3������ ��� ���� ���/	;� �������� ������ ��� �+��� ����� �%����� *������� F����!� $���� � �8	��8�� ���
&�-���� �CG�  �8��)�� *������F��G� F����!� ��-��� � �8	��8�� ��� &�-���� �CG�� ��� ��� ���8� ��� 8������ ����8��-�  �8�
8���8��-����� �������������/	;�+ $�������3�������3�������������%����� �8��%�������8��������*�����������
�
2�������
�� ������*����3$������� $$��-�������������������)�� �8� $���*��+�8�������������� �� ���� $$�8�3%�����
�)���&������� ���!������ �)��� 1��� �� $$!�������������
���� ���+ ��8�������+��������8�8�+ $����������??�
+ $���� �8�� $$����������������������)������������������-���-���� ��� �� $$�3 �1��������)�� �8� �� $$������������
#�������� ��!���������
�� ���� $$�8�3%������)�!� �8������??�+ $���� ������+����8��������+ $���������� 3$��
��� 8���8��� &�� $$%!� ���� � $$� ��� ���� �8�8� 3 �1� ��� ��� ��� )�� 3%� ���� ������� �
��� '�� ������!� ����� 1��8� ���
���������� ��3�� ���+ ��8������+�������8���3%�����
�
'������$�@����������9
����������$� �8��������������� $��*�� ���-���+�������������)���&������� ���!������� ���
��� ���� �*�� ���-� ��+��������� � �� 3�� ���	�*� ��� ����������-� + $���� *����� ��� � 1��-� ���� ��������� � $$���

$���� ��+�$%!� �������9
���-��� *��+�8��  ���=���� $� ��������� ��� ���	�*� ���� ���������* � ������� ��� �����)��
�������������� ������$�@�8�3%�)�����������8��������*�� $$���&����= �*$�!��??�������/	;�$ �-� -��� **��-�
������=���� $����������������*�������*����������������=���� $����������� ���� $$�8���������������* � �������
������� +���%*�����*������� �������� $�@�8� �8�* ���8���������������8���������
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�
�������/	;�������%����������??����*������������-�����$8������������-������� 8 *� ��������*��������'�$%�
������������
�� �8�9
�� ������������� ����*��������$������� �8��������������8����3����*$������8������ ���
�??������� ��� �8������ ����*�� ���-���+��������������)�������� ��� ������8���������/	;��������#����8���
��������8�����3���8��)��!���������
�� �8�9
�����8����3����*$������8����� ����*�� ���-��%�����*���������
������* ��������)��� ����=�����8������* ������������������ 8 *����� ��3��-���� ��8�������� 8�����$������
�??�*��-� �������� 8����� �� $$%�������-�������0���+��!���*$�������-������*�������* ����� �� $$%�*��+�8���
������ �%��$�=�3�$��%!����� 3�$��%!� �8��� 8 3�$��%�����������%����� �8������� ����8�+�$�*������������ �����3��
������ ��$%� ����+�8������-���� ���������������� ��8�������8�*��+����$%��� 3$��B�B�8�����3����������� 3$��
�$�������������/	;�������%����������8�������� 3$���??����*������������-��
�
� 3$��B�B��2� $�@ ��������*��8�����8� 8 *� ����������??����*������������-�
�

������%����������%� &������� $��%�

�;2��� �=�������)�!���!� �8�'���3%���*$�������-�* ���������#� �8��2#�F��G�
������ ������;2������ $� %���� $�@�8�3%����/	;����$��-��
�

�
� ������$��  �8� ��������� F����!� $�--��-G� ����� �=��������� ����� ����$8� 3��
���$�8�8�������/	;����$��-��
�

�0� 
8������� ���� ����� ���*������� �������  � ����� �%����� *�������� �����
����$8�3�����$�8�8�������/	;����$��-��
�

��� ����8��� ���/	;� + $���� ��� ���� �� ������ � �� 3�� * ���8� �+��� ������
*��������������� ������� ���$������������
�� �8�9
���
�
����8���+ $�����������������
�� �8�9
��������/	;�+ $�����
�
���������8��-����8�����3�8�3�$�������� 3$���
�

��� $��
� ��**����� 8�����3������ ��� �2#� *����8�� $� 3 ��8� �*�� ������ ��� ��$��*$��
��������
��������� ��3���� $�@�8�3%����$�@��-���	� � -� ��*������$��
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�����������-�+ $�������3��8���8�8�3%� ���������-��������$��������� $$� $���*��+�8�����+��������� ������
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������%����� ��3%���FD�3��G������-���������+ $���� �������� �8������+�8�3�������$�� $	� �8��������* �������
����������%����� �8��������������� $����������������8��-���$��� ������8�8����	� � -� ��*������$�8�������
������$��������=�� �-��-��2#���$ ��8������� ����!�3����=�� �-��-����� ��� $������8 � ����%������3��8�����8��#��
����������������8����������8��-���$���������8� �8������+�������8 � �3�������$�� $	� �8��������* �����������
������%���������������8��-��� $$�3����*$������8�3%�����-���������� �8� $�������-�������* �����������������
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���$8��������$������F&��$8�����G� �8� �+ $����$������F4 $��G� ��8�*����8����� 3$��B���3�$����
�
� 3$��B�������8�8����/	;�+ $���
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• ���� $��-������$8� ����8� ����%*�#�!�&��$8#�!� �8�4 $����$�������� ����@����� �����3%���� ���3�-	��8� ��
3%�����8����

�

• �%*���8����������$���������$�8��� �+ $������$8���������� �)�	
��##�����8�8������-���������%*��� ���
8�����8���� ����/	;���8�$�� �8� �$��-������$8�������8�����������+ �� 3$��$��-����������+ $�����

�

• &��$8��8����������$���������$�8��� �+ $������$8���������� �)�	
��##�����8�8������-�����������$8�� ������
 ����/	;��%*�� �8� �$��-������$8�������8�����������+ �� 3$��$��-����������+ $����

�

• &��$8� ������ �$������ 8������� ���� ���3��� ��� ���$8�� ���  � ���������8� �%*��� ����� �$������ ���$�8��� �����
3%�������3�-	��8� ��3%�����8�����d;��������8������8�� ����� ������+ $������ ����*$���%*�� �8�����������
���� ����������$8���

�

• #��� ���������*$���%*��!� �+ $����$���������$�8��� �+ $������$8���������� ��)�	
��##�����8�8������-�
����������/	;�+ $��� �8� �$��-������$8�������8�����������+ �� 3$��$��-����������+ $�����

�

• #�� � ������ ���������8� �%*��� F����!� �����8!������!�  �8� �� %G!�  � + $����$������ ���$�8��� �3%��������-�
 ����8��-��������������8��-���$����#���!�����$��-������$8�� ����@����������3%�������3�-	��8� ��3%�����8���
������8�����������+ �� 3$��$��-����������+ $������$8� �8�����+ $������$8��������$������8�8� ��8�����8�����
 3�+������8��-���$���������� ����� �8������%*���8���������8����3������8�8� �������??�������/	;�
$ �-� -��� **��-�8���������$�@��������
�
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&�$$����-� ���� *�������8� ���/	;� ���� ���������� ������ ���  � ���8� ��� *��+�8��-�  � 3��8-�� 3�������  � �%�����
 8 *���� F�
G�  �8� ����  ��� $� �)�� ������ ��� ��� � ��� ��� ����� ������� $� �����* ��3�$��%� ����� ���� �*�� ���-�
�%����!� ���� *��-� ����-� $ �-� -�� 
9#� ����� ��� �+������� ����� �������  � ���/	;� 8 � -� �� *������$� ���
*��*���8� �8������8���8����������$$����-��
�
�������/	;� �%����� ������������ ���  ���$$� 8�����8� ������������ 8�����3��-� ���� 8��������� * ���� ���8�8� 3%� �
���/	;�3 ��8�������%����!���-�������2#��/��� $$%� $$�������* ���� ���8�+�$�*�8���� ����-$��*$ ����������-� �
���� ���*��-� ����-�$ �-� -���H��������� ��������$$�8�����8�� %��8�����3�8����8�����3��������8���������* ����
��� �������1��&������� 8 *� �������� ��*��������)�������� ����*$����� ������=������ ����-���3�������������������
*��-� ����-� $ �-� -���� �������������8����� ���� �������+���������F��G���� ��� ��������� �%� ���8�����3���� ����
* �����������������1��
�
������8 � -� ��� ��8���-��8����3�� 3$�������*$�����������2#������� ������8���������� �-���*$ ������������
����$�� � �� ���� 8���������� ���  � *������$� ������ ���� *������$� 8 � � ������  ��� � * 3$�� ��� �� ��*�����-�  $$� ����
������ ����� �� �� ��� + �$ 3$�� �� �����2#� ������ ���� #�� � ��� ������8 � -� �� ��*$������� � $�-��	���-���8�29��
F2������ 9����8���� � $$G� �%*�� ��� �������� $��%�� #���� 8� ��� ����-�  � �� �8 �8�@�8� 29�� ���� ����!� $�1��
�'2H
!�  � ��$�	8�����8� *������$� � �� 3���� 8�����8� ��� 3��  3$�� ���  ����+�� ���� ��� ���� � ��� � �1�!�
������*�� 3�$��%� ���-�8����������%����� ������������!� �8����������@�������+���� 8!�������� ���������
�
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���� ��8 � -� ��  ��  � *������$� ��� ��8�*��8���� ����� ���� �� ��*�����-� ���� �����  �8� ���� *��-� ����-�
$ �-� -�����8� ��� ����� �������� ������8 � -� ��*������$�8 � ����� ���� ��3�� 8 *��8� ���� �������������9����
)�9� �8�� ��3��8���-��8�����+��%�*��-� ����-�$ �-� -���
�

�

!� ���
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�
������8 � -� ��*������$���� ������3%��� $�-��8�*������$�������������8�+� � �8�8�� ��8��� ��*�������� ����!�
���������� ��*����$ %����� ��3����*$������8���������������������*�� ������ �8�* � �������8�����8����5B7�� +��
������ ��*������ ����� ��� ���� ��8 � -� �� *������$�� � ��� �*�� ����� ��� � �8$�8�  �� ���� �8!� ��8�� ��8� ���  �
��������� 8�������������������� �����3���9������$�� -!� ���=�3���4�������� -!�������-���3������� �8�� -!� �
�� ������#8��������� �8��������� -��$��-����
�
�������$%� ������  ��� ��*$����� ������ ��� ���� ��8 � -� �� *������$� ��� > + �  �8� �� ����-� )�9�  �� �� ��*����
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���8 � -� ����*�������� �3�� �%�����8��-���� ���*�� ������ $$� �8��������*�����F���-�+��G��
�
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������+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+ -+-+-+-+-+-+-+ 
   | P |    Version|S|  Command    |        Transfe r Id            | 
   +-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+- +-+-+-+-+-+-+-+-+ 
   |                        PayloadLength                          | 
   +-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+- +-+-+-+-+-+-+-+-+ 
   .                        Payload                                . 
   .                                                               . 

9�� � 	���H���9������$�8�������� ����
4�������� 	���H���4����������3���
�� � 	���H����� �����$ -�F��X����� �8!���X����*����G�
���� �8� 	�D�H������� �8��8���������
�� ������#8� 	����H���� �8����� �������8���������
9 %$� 8���-��� 	�;��H�������-��8�����-���9 %$� 8����-���
9 %$� 8� 	� �3�� �%�$��-���* %$� 8�
9 88��-� 	�����;�R��$$Z�3%����F���-���B�3%���� $�-����������������� -�G�
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�2#^92'��� P��PH�
��#^92'��� P��PH�
2����+�8�� P��PH�
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������������ �8���
�
��4 #�#�+�!��+�5�!!��+��#�$+�#�65#5#4!��+�����+� #��7+� ���#��

#�65#5#4����+�#�65#5#4 #��7+�#�65#5#4#2�#�������

�5�4������4��/� !��+��5�4������4�#!����#��

��4 #�#���

��� �4���!# +�����4��!# +� #�$4��!# +���!# 4 5�����+���!#�5���

#2�# ���4/5��������

�

����� �8���$$�3�� �1���$�8-�8�3%���*%��-�����9!�4������!����� �8� �8������� ������#8�������� ����� -�
����$$�3����������������9 %$� 8����-��������������!�������������������8!������8�� ��������$��-������������$$���8�
9 %$� 8�� � ���*��������-� �������������-��


��&�����

����* %$� 8����������8 � -� ������������������* � ��������������*������8����� �8��� ���* � ������� ������
��*������ �������� ������-��� �8:��������-�����8��-������3%���������-���� ��3�����8�����������8�� ������������
��$$����-��$����������$��-���������������-��
������-��������*�������8� �� ������3%���+ $���F�������-����� ���3���
�����G��
����8��-�����������+�������������� ��������-�����$���8�3%� ���$$��� � �����F�� �����* ����������* %$� 8�
���$8G� �8���$$� $� %��3��* 88�8������$��$$������3%��� $�-��������������� �%��
�
���� ��$$����-� �= �*$�� ��$$� 8�����3�� ���� * � ������ ��*������ ����� ��� ���� ���9���#8����� ���8� ��-�� ���� ����
* � ������������������������� �8�����=���������� ����
�
���9���#8������
      +-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+ -+-+-+-+-+-+-+-+-+-+ 
      |                        length(integer)                        | 
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      +-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+ -+-+-+-+-+-+-+-+-+-+ 
      |                        port 1(TriPortId)                      | 
      +-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+ -+-+-+-+-+-+-+-+-+-+ 
      /                                                               / 
      \                                                               \ 
      +-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+ -+-+-+-+-+-+-+-+-+-+ 
      |                        port n(TriPortId)                      | 
      +-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+ -+-+-+-+-+-+-+-+-+-+ 

����8��-�����������9���#8��
      +-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+ -+-+-+-+-+-+-+-+-+-+ 
      |                        compInst(TriComponen tId)               | 
      +-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+ -+-+-+-+-+-+-+-+-+-+ 
      |                        portName(Char)                         | 
      +-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+ -+-+-+-+-+-+-+-+-+-+ 
      |                        portIndex(integer)                     | 
      +-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+ -+-+-+-+-+-+-+-+-+-+ 
      |                        portType(QualifiedNa me)                | 
      +-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+ -+-+-+-+-+-+-+-+-+-+ 

����8��-����������*�����#8��
      +-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+ -+-+-+-+-+-+-+-+-+-+ 
      |                        compInst(BinaryStrin g)                 | 
      +-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+ -+-+-+-+-+-+-+-+-+-+ 
      |                        compType(QualifiedNa me)                | 
      +-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+ -+-+-+-+-+-+-+-+-+-+ 

����8��-����H�� �%�����-��
      +-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+ -+-+-+-+-+-+-+-+-+-+ 
      |                        bits(integer)                          | 
      +-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+ -+-+-+-+-+-+-+-+-+-+ 
      |                    data(unsigned char)                        | 
      .                                                               . 
      .                                                               . 
      +-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+ -+-+-+-+-+-+-+-+-+-+ 

�
����8��-����,� $����8/ ����
      +-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+ -+-+-+-+-+-+-+-+-+-+ 
      |                        moduleName(Char)                        | 
      +-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+ -+-+-+-+-+-+-+-+-+-+ 
      |                        objectName(Char)                        | 
      +-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+ -+-+-+-+-+-+-+-+-+-+ 

����8��-������ ���
      +-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+ -+-+-+-+-+-+-+-+-+-+ 
      |                        length(integer)                        | 
      +-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+ -+-+-+-+-+-+-+-+-+-+ 
      |                        String                                 | 
      .                                                               . 
      .                                                               . 
      +-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+ -+-+-+-+-+-+-+-+-+-+ 
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���������������������� � -� ������
8 *����������� 8 *� ���������������/	;�����������+������������ ���)��
�*������� 8 *� �����$ %���F��-���	3 ��8G�+� ����1����������� ���������-�������8 � -� ��*������$��
� �
���� ��*$����� ����� ��� ���� ��8 � -� �� *������$� ��� ���� � � -� �����
8 *���� ��**�����  $$� 8�����8� �2#�
�����������
�
����� � -� �����
8 *���� ��� ����  �)�9����1����)�9� ���  8��� ��� ���� �� ��*���� 8��� ��� ���� � ��� �� �� ����
� � -� �����
8 *����� �� ��*$������8� ������������������-$��� ����������� �� ��*�������� ������ ��3��
�+���������� 3%�  � ����
8 *���� �=���8��-� ���� � � -� �����
8 *���� ��� ������� ����  8��� ��� �� ��*����
���� ��������� ��*���������*$����� ������
�
������ ���  � 8��������� ����� 3������� ��8 $�  �8� ���	��8 $� ���� �8��� 
�8 $� ���� �8��  ��� ���� �8��
������  � ���*����� ���� ���� � $$� ��� �=*����8!� ���	��8 $� � +�� ��� ���*������ &���  $$� ��8 $� ���� �8��  � ���
� $$�8��2#� � -� �9���������� �����3����� ��8���� � ��������=*����8����*������&�������8�� �$�8���-� �����
��������*�� ��������*�������8�3%��������� �8��*$� �������5B7��
�

��
�.��
�4��.+
�3%/��.%�$3.�
$�.�
�*
�/.
%��.
��$��.�

�
����-���� $� ������%����� ������������ �������� ���&�-����B�� ��3���� ���� ��� ��8�8��������$%� ��� ����+ ������
� ������8���������� ���8����������� ��3���� ��� ���� ��*$����� ��������� �����
� �8� ����9
�� #���������� ����
� ������8���������
�� ��3������*$������8� �� ���=���� 3$��������������#�������������� ������8���!����� ��
3���� ��*$������8� ��* ������ �����=���� 3$������ ����-�������!� ���������� ���8������������- �8��-�����9
�
� ��3���� ���������������$ ��8� ����� ���������� ����� ������8���� ���**���8� ��� �� $� �����3%� ����������� ���
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*��+�8�8������-�� �����*����3�$������ ���� ��������������� ��� �����)���"������� ������
�3���-� + �$ 3$�!� �����
�
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����9
����������������� $�� ��� �8� �8�� �$����*$����� ��������*��+�8�8�3%�����������
�
�����*$����������$ ��8��������������� �$� %�� ������8%����� ������3��������������������*$��������������������
9
��� ��� ��*�����8����� �� �����$%���������������������������=*����-���=�������*��3$������������� �������2#�
 �8���#� �����%� ���8�����8� �������������8������*��+�8������-�������� ��������8�������8$������������������
�%������H��� �������� %�  8+ ���� ��$%!� ����� ���� ����� �%����� ��� �8$��� #�� ���$$� � �� 3���� *����3$�� ��� ���� ����
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*� ��!� 88����� $����*�������������������� ���� ���������� ����$$� �����*��������������������*$ ��������$$�3��
8�+�$�*�8���
�
������������� ������������$$��*������ $$%�3������� ���8������*$�-���������'2H
�3 ��8��%������ �8�����6
��
3 ��8��%�����������8�+�$�*�������������'2H
�*$�-��� 88����� ��� $�@ ������������#���������/	;�� **��-�
F3%� �� ��� ��� ��*$����� ��*���� ���3���8� �����  � +��� $�@��� ���� ���� -���� ��8� ���/	;� ����������G�  �8� ����
�� $�@ �������� ��2#:��#	3 ��8��'2H
� 8 *���������8�+�$�*������������6
��*$�-��� 88��������8�������������
 �� 6
�� ��� ���/	;�� **��-!�  � �� $�@ ����� ��� ������ **��-� F3%��� ��� ��� ��*$����� ��*���� ���3���8������  �
+��� $�@�����������-���� ��8����/	;�����������G���
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#��  88�����!� ���� ����� ���� ���������� ��$$� 3�� �=���8�8������  � $�--��-� ������ ���� ����� $�--��-� ������ �����$$� 3��
8�����8�������������6
��������������������� $�--��-�8 � � �8������������� ������ ����*�� �������������� $�--��-�
�+����������������� ��������3<��������� �8 �8�@ ����� ���+������ �����#��
�
&������������������� ���������� 88������� ��������**�����)�������� ����3���8�����> + ����������1�����??�
� **��-� �8�������8 � -� �� **�� ���� +��3������+����- ��8� �8���*����8��
�

��
 +�3#.�
9$.���"*��3.

�������* �������8�������������� �1������+�%� 88�����8������ *������� ����$8� ���������$%����������� ��� $�
������!�3��� $����������-%� �8���$������
����������������* ����� �����$��� ���� $��������������� ����8�����
-$�3���
�

���+��+����������* ���������* �����* ��8�����������+�%����$����8��������� 3$���������+��+����������������8�8�
���3�� ����*$����$���!�3���������8������8�� �������8�+�����%��������* �����* �����
�

���* �%� ������%� H�������� �%�������8��������


���� � /�����$ �8�� *����� $� *������� *$ ��  �8�
����� �������* �%�

*��������%�����

2 3�3 �1� /�����$ �8�� 3 �1��-�  �8� ����� ����
���* �%�

��3� **$�� ������

�$���� 3�$� H�$-���� ��**$�����������-%���$������� �
9�3 ��8� **$�� �����

������ /�����$ �8�� ��**$�����������-%���$������� ����-� ����� ��� '� �$��
8 � 3 ����
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.� /�����$ �8�� ��$�����+��8��� "
9�- ��� %�

4�8 ����� ���8��� ��$������*�� ���� 3�$$��-� **$�� �����
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• "� �����%�����%�����)�8��������F�)�GY�

• "����������� ���� �8�*������$�� ������8Y�

• 
����������=�����8���� �$ 3�� ���%���+��������������� �$�+����+��������Y�

• #�������)������$ ��8���� �$ 3�� ���%���+��������!� �8������������������*��*���Y�

• '���������*�� ���-��%��������������)��3���-������8Y�

• '���������*�� ���-��%�������� �*����3$���=�����������$�F��-������� ���� ��������$G��=�����8Y�

• '���������*�� ���-��%������ ������ ����-���������$���=�����8Y�
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• 
���������*������ ������8�+�$�*�8�� �� $$%����-���� ��8�3%� �� **$�� ����Y�

• 
���������*������ ������+ $�8 ��8Y�

• "� ���������������������� �����L������= �*$����������� ���* � �������������� ���� �8����� ����Y�

• "������*������ �����$ �-� -�����3���-����8����8�����3�����������Y�

• "������� ������8��%��� **���� ����������������*������ �����$ �-� -�Y�

• "������� ������8��%���������������������*������ �����$ �-� -�Y�

• "� ��1��8���������� ���3���-��=�����8��
�8�$������!�#���-� ���������!��%���������!�
���*� ��������a�

• "� �� �%*�� ��� ������-� ��� 3���-� 8����� H$ �1� 3�=!� � "����� 3�=!� '���� ��$%� ����!� 2�-�������� ����!�
&������� $�����!����� ��������!� �� 8�����!�9������ ���������
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• 0�������������*���8 � ���� ��8Y�&����= �*$�!����������*���8 � ������8�����=���� $���$����������-� ��8����
����������*������ �����Y�
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• 0��� ��� ����� 8 � � ������8� ��� ���� �)��� "�3� 3 ��8� ������ ��!� .)#� F.� *��� $� )���� #����� ��G!�
���� �8$���� ������ ��!� ���� $� ������ ��� F��-�� 2�	�;�G!� #9� 3 ��8� �������� ����!� 
9#� F
**$�� �����
9��-� ����-�#����� ��G!�29��F2������9����8����� $$G�

• 0�����������������*�������*������$���*$����� ����!�����8���� �8�8���8���Y�

• 
���������3���-� ���� ��8� ������������Y�#����!����*$���$%Y�

• "��������$�� �8�$ �-� -��� ���3���-����8���������� ���� ����Y�

• �������������� ���� ��������$�� +��������1���������������$�!������= �*$��������������� � -������
���$Y�

• "� �� ������������������������*������ �������������������$Y�

• #�� ���� ����� 3��$�� ��� ���� * ��� ��� 8���� ��� �=���� ����� ��+�� $� ��3	�����Y� � �� *����3$�� ��3	������ 3��
�=�����8���$�$%Y�

• 0�����������$�--��-������8� �8� � $%@�8Y�

• "� ��8��%������������������8���������$Y�
�
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• "� ����������� �������������-���������������* �%Y�

• #�������� ����8������*��+�����������*������Y�

• #�������� ����8������*��+������������*������ ����Y�

• #�������� ����8������*��+��������������$��-Y�

• #�����*����3$�������*$ ����=�����-����$�Y�
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��������� ���� ��8���8� ���� ������ ���� ����� *$ �� ���  �
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� 8�������� 8�����3��-� ���� ���*�!�  **�� ��!�
���������!�  �8� ����8�$�� ��� �����8�8� ������-�
 ���+������� #�� �8��������� ����� �����!� ���� �� ������ ��� 3��
�����8!� ���� ������-� � �1�!�������$$�8��� ��� � �1!� �8�
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������-���� �� 3��� ��������� ����


�8���� �������� #�':#���E�B��
F��
&G�

�������*������%� ��$$���������������������!������$�3� �������������* �������� �

���������$�� 
� �� �������  3���� ���� �����������:�������������� ���
 �� �)�� ����� ���*���� ��� ���� ����� �3<����+��:�����
*��*�������� ����������������� ����-��%*�� $$%����������
+��8����� F* ��!� � �$!� ���������������G���� �=�����8� �����
� �����


�8���� �������� #�':#���E�B��
F��
&G�

���������*�� ���� ����������� ��� ��	��8�� ��8�  �������  �8� ����1��
��$ ���-� ���*�%��� $� ������ ���!� ���$�8��-� ������8��� ���
���������%� ������3���=�����8��
�8�����*������������
������-�������*�����8��
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��������� 
���$$���������������� �����*������ $$%��������-��������
���������� $��%��� � ����������� �8������������� �����
�������
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�8�����*����� ��� ����� %� ��������� $�-�� $� ����� � ����
� +�� 3���� ��$����8!�  ����$$�  ��  � 8�����*����� ��� ����
$�-�� $� ����� � ����� 
� 8�����*����� ��� �� �� ��� ��� 3��
�����8��


� 8�������� �� �� ��������� ���  � ����� 8���-��
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*����8�����*������ ������
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������*��8��-�������������
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�� ������ +��8���� �� $$� 3��
���8� ��� ��8�� ��� ������� F�=��*�����G� ������� ���� �����
�%���������$���


�8����8�5�;7�

����� ���

���� ����*��8���8�8����-����������*��������������8����
*$ �!� 8���-�!�  �8� �=������ �����!� �����  ��
8������� ����!�����*��!� ��*���!��=*����8�����$��!����	
�*�  �8� �$� �	�*� *����8����!� ��$��!� 8 � 3 ���!�
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���*�$ ����� �� ��$ ����� ���  3��� ��� ���/	;� ����� ������� �����
�=���� 3$�� �����L� �%*�� $$%� ���� � �-��� ��� ���*�$ �����
 ��� �� 8����� $� *��-� ����-� $ �-� -��� �����  �� �!�
�??����> + �

�

��+�� -�� � $%����

� ��������� ���  ����+�8� ��+�� -�� ���  � �*������8�
��+�� -�� ����� 8����-� ����� �=�������� ��������-� ���
*��8��������8� ������� � ��� 8��������� ��������
 88����� $� ������-� ��� �������8�  �8� ��� ��!� ������ �����
� ���� ������8�8��
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���� ����� �=�������� ����� 3�� 1� *�����!� � ���� *�����!�
�����  �8� 3%� ����1��-� ���� ������������ ��� + �� 3$��!�
* � ������!��� *�����!������
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� ��������� �$������������� ����
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��*$�%����� ���� *������� ��� � 1��-� *�%��� $� ��*������ ������ ���
������ + �$ 3$�� �����8��� �8� ���� $$��-� �������� �� ��
���%� ����� 8%������=���������


�8���� ����� ��� #�)� I��;��
F�'��G�

�+ $� ����� ���� �+ $� �����  �8� ���*������� ��� ���� + ������
�������8� ���*��8����� �8:���*�����������������%�����
8�+�$�*������%�$���

5E7�

,� $��%�������$� '*�� ���� $������������ �8� ���+�������� �� ������8����
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���������$ �����F ��*��� $�1��8�����=���� 3$������G� �8�
3%� ����1��-� ���� ������������ ��� ���� ������ 8����-� �� ��
����$ ������
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�����=�!� ���� ������ 1��8�� ��� ������ ��� ���� ���� �����

�



�� �
�
�

�*������ ����������������� ���������� �8�
 �����������




��$�+�� 3$��#�����������

�

9 -���������E�����B�
�

�

4�������������
� ����������;�:��:�����
�

�

�� ������&�� $�
�����8���9�3$���

�

�

����*%��-�����	
��
�������������

�3<����+���

������������ ���������������*��������������/	;��=����
 �8� �� 3$�� ���� ������ ��� ����� 8 � �  �8� ���� �����
3�� +������ �= �*$���  ��� ���� * � ������@�8�
��+�� ����� ��� ����� � ���:���������: $����*�!� ����
* � ������@�8� ���� ��� ���*$ ���!� ��� ���*$ ���
��8���� ������

�������� ����� 
 �� $� ����� 8�+�$�*����� 3 ��8� ���  � �������� $�
�*������ ����� �8��%�������������������
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�����8���+ ����� ����  ���� ��8� �%�������� ��� ����� �1�$������ �����
�%����� ��8�$�!� �%����� ���� ����� ��� ����� *��*����
��8�$��������1�$������ ������*$���8�� �� $$%��
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$$����*�����8�8� ���8���-�: ��������� �� 3��� ��� �����
�����!� �%*�� $$%� ���$�8��-� 8�+�$�*����� ��� ����� ������
���������!� ����� *��*����!� #���  �8� #6#��
��������� ����!� �����  �����������!� ����� 8 � �  �8� �����
3�� +������
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$$� ���*�� ���8�8� ��� 8�+�$�*�  � ����� �%����!� �%*�� $$%�
���$�8��-� ����� 8���-��  �8� ����� �� $�@ ����� F����  $���
�����8���-�� �8�������� $�@ ����G�
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�����-���� ����� ����  ���� ��8� �%�������� ��� ���*$����  3��� ��� ������
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���� ���8 ���� $� ����� *������� ���*������ *$ ����-!�
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� ���� F������ ��**����8� 3%� ���/	;� ���*�$���G!� ���
 8 *����� �8�*��� �����������������*������
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���  �� ������ ����� �%����!�  �8� ��8�� ���-� ����
8����������3����������� ��� $��� ���� �8������������8�
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���� *������� ���  � $%@��-�  � ����� ��� ����� ��� 8������
����8������������=�����-� �8��������8����8�������F�� ��
��!�3�-�G� �8�����+ $� ��������� ������������������ ���
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�� ��*$����� ����� ���� ���� + ������ �2#�  �8� ��#�
��3������ �����2#	�
!��2#	9
!���#	�
!���#	�0� �8�
��#	���� 
��  8 *���� � �� 3�� ���� ��*$����� ����� ����
���� ��� ������ ������ ���� ��� ���� ��+�� $� ��� ������� #��
� �%�� ���!������2#	�
� �8�������#	������8����3��
��*$������8� 3%�  � ����� ��$%!�  �� ���� ��*$����� �����
�����2#	9
!���#	�
� �8���#	�0� ��������8����������
���/	;����$��-��

���#����/	;!�* ����� �8���


8 *������*������%� ��$$�����������2#� �8���#� 8 *����� �

����� ������������ ���*������  �8� *���� �%*��� ���8� ��� 8������  � �����
�����-�� ����� ��� ���/	;!� ������ � �� 3�� �� �-�8�
8%� ��� $$%�8����-�������=���������

����������������*�������*����%������������� $� �*�����
��� �����������=����+����-���������*������!������)�!�
�����������-�� ����!������
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��� ���� �)��� ���� ����� �����-�� ����� 8������� 3���� F�G�
��������*�������3<����� �8������������������ ������
� ��� ��� �� ���8� F���� ����� $� ����� �����-�� ����G�  �8� F�G�
����� =�� $� ���3��� ��� ����� ���*������ �3<�����  �8�
������������8����-�����������=���������
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� ����� ���*������ � ��  � ���� ��� ������ ���� +� �
���������� %��������� ���+� ������������������������
��������*��������������������)���
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���� * ��� ���  � ����� �%����� �� �� 8� $�� �����
�����*��� ����� ��� �=�������� ���  � ���/	;� �=���� 3$��
������������
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�������+���������
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�=����������������� ����-��������-���!����������*�����
 �8� �=���� 3$�� ������  �8�  88����� $� ���*�������
����� ������$�--��-� �8��� ���-��
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